Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
01-0790088-11 Beacon 0.0000 1,312.50 0.00% 1  Shelf API-Aerospace
Products Int'l
013010 Insulation, micro fiber, 0.0000 0.00 0.00% 1 Back wall
4.0 Type 475
015957-000 Valve, vent SAFT 80004 0.0000 14.85 0.00% 2 Bin#l Aviall
0201789-001 Lamp, halogen, 28V 0.0000 0.00 0.00% 1 Bin#l
021200-31592 Adhesion promoter 86A, 0.0000 57.56 0.00% 1  Shelf Aviall
pt., clear
03-00111 Phenolic sheet, 1 sqare 0.0000 27.18 0.00% 1 Shelf Aircraft Spruce &
foot Specialty
03-16030-2 SS Tubing, 304 0.0000 7.20 0.00% 1 Aircraft Spruce &
seamless Specialty Co.
032 MIL-R-6855/1 Syn. rubber sheet, 36" x 0.0000 112.32 0.00% 1 Shelf Hawker Beechcraft
60" Corp.
04583712 Tape, 3M 5425, UHMW 0.0000 4.62 0.00% 95 MSC
Polyethylene
05-29904 SCAT Ducting, 1" 0.0000 5.40 0.00% 3
05-29911 SCAT hose 0.0000 7.61 0.00% 1 Aircraft Spruce &
Specialty
08-00435 AOA, Turbine engine oil 0.0000 19.10 0.00% 2 Aircraft Spruce &
analysis kit Specialty Co.
1-321897-3 Terminal Lug 0.0000 3.80 0.00% 9 Bombardier
Aerospace
1-321897-4 Terminal Lug 0.0000 4.35 0.00% 8 Bombardier
Aerospace
10-72614-5S Connector, Plug, Electric 0.0000 0.00 0.00% 1 Bin #1
100-110-5611 O-ring 0.0000 5.85 0.00% 1 Bin#l Hawker Beechcraft
100-114-0270 Seal 0.0000 9.39 0.00% 2 Bin#l Standard
Aero-Tempe
100-125-5611 O-Ring 0.0000 3.83 0.00% 1 Bin #1 Hawker Beechcraft
Corp.
100-920-1911 Seal 0.0000 10.58 0.00% 1 Bin #1 Hawker Beechcraft
Corp.
10010518 Oxygen o ring 0.0000 9.00 0.00% 4 Bombardier
Aerospace
100111 Washer 0.0000 0.24 0.00% 10 Aviall
1005329016-007 Line 0.0000 988.20 0.00% 1  Shelf Bombardier
Aerospace
1005329025-001 Line 0.0000 0.00 0.00% 1  Shelf Bombardier
Aerospace
100593 O-Ring 0.0000 0.10 0.00% 19 Aviall
10781-4-22CR FIRE SLEEVE CLAMP 0.0000 2.32 0.00% 48 Aviall
10V70 Wiper 0.0000 149.50 0.00% 1 Bin #1 Preferred Airparts
11-01112 Telex Windscreen 0.0000 9.47 0.00% 1 Shelf Aircraft Spruce &
Specialty
1 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
11-01113 Telex cushions 0.0000 7.13 0.00% 2 Aircraft Spruce &
Specialty Co.
11-01227 Light, Whelan LED 0.0000 308.97 0.00% 1 Bin #1 Aircraft Spruce &
Interior Specialty
11-04332 Telex 850 Leather Ear 0.0000 32.33 0.00% 2 shelf Aircraft Spruce &
Seals Specialty
1109452 Terminal Block 0.0000 390.00 0.00% 1 Aviation Services
Intercontinental
1111055 Cover (Lear gen) 0.0000 135.00 0.00% 2 March Aviation
111TW600-3 Switch 0.0000 0.00 0.00% 1  Shelf Bombardier
Aerospace
11307AA Triple Indicator 0.0000 750.00 0.00% 1 Channellock
11721-7B Fill Cap 0.0000 46.37 0.00% 2 Bin #1 Midwest Aircraft
Products
12-12-11707S3-4 Cartridge 0.0000 0.00 0.00% 1 Bin #1
13-610-5B Switch 0.0000 459.00 0.00% 1 Bin #1 Standard Aero -
Tempe
1308 Lamp 0.0000 5.30 0.00% 5 Tulsair Beechcraft,
Inc.
1309 Lamp 0.0000 2.70 0.00% 10 Hawker Beechcraft,
Corp.
130D/3 Detector, Heat 0.0000 450.00 0.00% 4 Aircraft & Turbine
Support
13158 Disc, Yellow 0.0000 33.62 0.00% 1 Bin #1 Bombardier
Aerospace
1317 Lamp 0.0000 32.40 0.00% 2 Bombardier
Aerospace
132269A403 Rivet, blind, structural 0.0000 1.58 0.00% 10 Rivet bin, back shelf Hawker Beechcraft
Corp.
132271A403 Rivet, blind structural 0.0000 1.24 0.00% 4 Shelf Hawker Beechcraft
Corp
132271A503 Rivet, blind structural, 0.0000 0.98 0.00% 19  Shelf Hawker Beechcraft
alt. CR3212-5-3 Corp.
1385 Bulb, GE1385 0.0000 14.51 0.00% 1 Hawker Beechcraft
Corp
140-3607-0003 Kit, Electrical 0.0000 691.74 0.00% 3 Hawker Beechcraft
Corp.
144737ZB Clip 0.0000 3.20 0.00% 10 Bin#l Dassault Falcon
1495 Incandescent Lamp 0.0000 1.18 0.00% 7 Aviall
15164-091 O-Ring 0.0000 2.20 0.00% 2 Bin #1 Autopilots Central
15164-093 O-Ring 0.0000 7.70 0.00% 1 Bin #1 Autopilots Central,
Inc.
15164-094 O-ring 0.0000 8.59 0.00% 2  Bin#l Autopilots Central,
Inc.
152B2 EGT GAUGE (Lear) 0.0000 1,500.00 0.00% 1 Aircraft & Turbine
Support
2 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
152BL704 EGT Gauge 0.0000 750.00 0.00% 1
15330 Static Wick 0.0000 55.05 0.00% 2 Aviall
15592 Gasket seal 0.0000 22.29 0.00% 1 Dassault Falcon
1559B-4-05 RPM indicator N1 (lear) 0.0000 1,500.00 0.00% 1 Aircraft & Turbine
Support
16175 Trailing Static 0.0000 76.32 0.00% 2 Aviall
Discharger
16305 Model 16305 null field 0.0000 72.21 0.00% 1 Tulsair Beechcraft,
trailing discharger Inc.
16310 Model 16310 null field 0.0000 58.83 0.00% 1 Business Aircraft
tip discharger Consumables
16785 Null strike trailing 0.0000 58.52 0.00% 2
discharger
1683 Lamp 0.0000 1.84 0.00% 5 Aviall
169-5197-010 Gasket 0.0000 0.00 0.00% 1 Bin #1
169009-1 Element Filter 0.0000 123.06 0.00% 1 Bin #1 Hawker Beechcraft
Corp.
17000-206 Gasket 0.0000 103.08 0.00% 1 Bin #1 Channellock
17000-262 Seal 0.0000 34.00 0.00% 4  Bin#l Channellock
170041 Valve 0.0000 151.20 0.00% 1 Hawker Beechcraft
Corp.
1714000-22 Washer 0.0000 3.29 0.00% 2 Bin #1 Yingling Aviation
17919 Disc, Red 0.0000 7.80 0.00% 1 Bin #1 Bombardier
Aerospace
1818 Lamp 81659 0.0000 1.72 0.00% 4 Aviall
1829 Lamp, T-3-1/4 0.0000 3.66 0.00% 4 Hawker Beechcraft
Corp.
1864 Lamp, T-3-1/4 0.0000 1.64 0.00% 2 Hawker Beechcraft
Corp.
2-14SC1 Discharger, class Ill 0.0000 0.00 0.00% 1 Dassault Falcon
2-322L677S211  SEAL 0.0000 5.65 0.00% 1 Bin #1
2-66SC1Y Wick 0.0000 271.17 0.00% 1 Aviall
20-30C Stud 0.0000 1.36 0.00% 12 Bin#l Dassault Falcon
2000T12P01 GASKET 0.0000 18.00 0.00% 7 DK Turbines
2000T34P03 SHIM 0.0000 9.00 0.00% 16 Bin#1 Aircraft & Turbine
Support
2000T40P01 GASKET 0.0000 6.30 0.00% 11 GE Structured
Services
2000T88P0O1 BUSHING, INNER 0.0000 28.16 0.00% 7 GE Structured
Services
2001T45P01 SPRING 0.0000 30.71 0.00% 4 GE Structured
Services
3 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
2002T23P01 SHIM 0.0000 32.98 0.00% 1 GE Structured
Services
2002T75P01 GASKET 0.0000 10.88 0.00% 2 DK Turbines
2004T08PO1 WASHER FLAT 0.0000 1.20 0.00% 18 GE Structured
Services
2004T83P01 NUT 0.0000 27.00 0.00% 17 GE Structured
Services
2005T72P01 SHIM 0.0000 25.00 0.00% 1 Bin #1 Aircraft & Turbine
Support
2005T85P01 GASKET 0.0000 35.90 0.00% 4 GE Structured
Services
2006T17P01 PIVOT PIN 0.0000 20.52 0.00% 7 GE Structured
Services
2014 Stud 0.0000 1.98 0.00% 25 Bin#l Dassault Falcon
207376 Insulator 0.0000 4.43 0.00% 4 Preferred Airparts
21WA29-1 Bolt 0.0000 16.20 0.00% 18 Bin#1 Tulsair Beechcraft
2232 Bulb, GE2232 0.0000 3.38 0.00% 9 Bin #1 Business Aircraft
Consumables
22FT832 NUT, LOCK 0.0000 44.05 0.00% 8 Bin #1 Aircraft & Turbine
Support
2300003-152 Cable 0.0000 322.65 0.00% 1 Bin #1 Bombardier
Aerospace
23052956 Gasket 0.0000 3.40 0.00% 1 Aviall
2311600-117 Seal 0.0000 91.80 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-118 Angle, seal 0.0000 76.95 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-121 Angle, seal 0.0000 270.00 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-122 Angle, seal 0.0000 36.45 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-123 Seal, 12 inch 0.0000 21.00 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-124 Seal, 8 inch 0.0000 13.77 0.00% 1 Bin #1 Bombardier
Aerospace
2311600-256 Angle, seal 0.0000 445.50 0.00% 1 Bin #1 Bombardier
Aerospace
2312010-61 Stinger, skin assembly 0.0000 450.00 0.00% 1 Alliance Air Parts,
Inc.
2319116-2 Gasket 0.0000 5.67 0.00% 2 Bombardier
Aerospace
2319116-4 Gasket 0.0000 5.63 0.00% 2 Bizjet International
232-20359-4 Pneumatic latch 0.0000 0.00 0.00% 2 Shelf
23201AMO0050T  Retaining ring 0.0000 0.20 0.00% 3 Bin #1 Dassault Falcon
4 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

2322140-64 Gasket 0.0000 9.08 0.00% 4 Bin #1 Standard
Aero-Tempe

2322140-65 Gasket 0.0000 8.10 0.00% 4 Bin #1 Bombardier
Aerospace

2323045-18 Gasket 0.0000 9.30 0.00% 1 Bin#1 Bombardier
Aerospace

2323070-8 Gasket 0.0000 9.75 0.00% 1 Bin #1 Bombardier
Aerospace

23350AC120LE  Lock washer 0.0000 2.20 0.00% 1 Bin #1 Dassault Falcon

23352CA040 tab washer 0.0000 0.58 0.00% 2 Bin #1 Aircraft & Turbine
Support

2355105-15 Oil tank extenion 0.0000 245.00 0.00% 1 Aircraft & Turbine
Support

2380060-30 Boost pump (RR12670 0.0000 1,650.00 0.00% 1 Aircraft & Turbine
Support

2380QT BP oil, quart 0.0000 25.69 0.00% 14  Bottom shelf Tulco Oils

2426007-2 Gasket 0.0000 3.80 0.00% 1 Bombardier
Aerospace

2487989 Coupling 0.0000 1,152.90 0.00% 1 Bombardier
Aerospace

25-2TR45 Bushing 0.0000 41.12 0.00% 4 Bin #2

25-7FT93-3 Washer 0.0000 37.40 0.00% 1 Bin #2 Select Air Parts

25-7MC5-5 Washer 0.0000 11.64 0.00% 2 Bin #2 Standard
Aero-Tempe

25-7VF293 Gasket 0.0000 15.00 0.00% 6 Jetparts, Inc.

25-8WG179-1 Bushing 0.0000 10.73 0.00% 3 Bin #2

25-8WG403-1 Bolt 0.0000 72.39 0.00% 1 Bin #2

2522521-15 Hinge, Gear door 0.0000 253.80 0.00% 2 Bin#2 Bombardier
Aerospace

253517-1 Bushing 0.0000 604.80 0.00% 2 Bin #2 Worthington
Aviation Parts

259W02610-1 Bolt 0.0000 99.82 0.00% 1 Bin #2

25CF2871 Seal 0.0000 37.53 0.00% 4 Bin #2 Hawker Beechcraft
Corp.

25FC6243-3 Cap 0.0000 71.25 0.00% 1 Bin #2 Hawker Beechcraft
Corp.

25GF4333 Bolt 0.0000 25.10 0.00% 6 Bin #2

25PF463 Seal 0.0000 171.07 0.00% 1 Bin #2 Hawker Beechcraft
Corp.

25PF567 Seal, Main Boost Pump 0.0000 240.66 0.00% 1 Bin #2 APPH Houston

25UM1153-5 Shim 0.0000 23.33 0.00% 2 Bin #2 Western Aircraft
Parts

25UM405A Casing 0.0000 600.54 0.00% 1 Bin #2

5 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

25UN589A Pin 0.0000 143.65 0.00% 1 Aircraft & Turbine
Support, Inc.

25UN605 Steering Pin 0.0000 1,606.21 0.00% 1 Bin#2 Hawker Beechcraft
Corp.

25VF3503-17 Duct 0.0000 14.81 0.00% 1 Bin #2 Select Air Parts

25VF3503-3 Hose 0.0000 44.77 0.00% 1 Bin #2 Select Air Parts

25WB49 Bushing 0.0000 142.20 0.00% 11 Bin#2

25WF215 Bushing 0.0000 64.58 0.00% 2 Bin #2

25WF61 Bushing 0.0000 76.47 0.00% 4  Bin#2

25WG179 Bushing 0.0000 53.40 0.00% 2 Bin #2

25WG4321 Non-magnetic bolt 0.0000 80.55 0.00% 4 Bin #2 Hawker Beechcraft
Corp.

25WG487 Bushing 0.0000 86.69 0.00% 1 Bin #2

25WG521 Bolt 0.0000 167.60 0.00% 1 Bin #2

25WsS1117 Bolt 0.0000 152.61 0.00% 1 Bin #2

25WS335-7 Seal 0.0000 116.10 0.00% 1 Bin #2 West Star Aviation

25WS695 Bushing 0.0000 30.14 0.00% 8 Bin #2

25WS697 Bushing 0.0000 50.56 0.00% 2 Bin #2

26000-12 Camlock 0.0000 4.28 0.00% 4 Bin #2 East Coast Aviation
Supply

26000-7 Camlock 0.0000 3.50 0.00% 14 Bin#2 East Coast Aviation
Supply

2600LW Fastener 0.0000 0.72 0.00% 9 Dassault Falcon

2633003-802 Rib 0.0000 106.65 0.00% 1 Bin #2 Bombardier
Aerospace

2650-10 Fire Sleeve 0.0000 7.76 0.00% 15

2650-14 Fire Sleeve 0.0000 10.49 0.00% 5

2650-6 Fire Sleeve 0.0000 6.29 0.00% 12 Availl

2650-8 Fire Sleeve 0.0000 6.93 0.00% 23

2651024-2 Shim 0.0000 53.87 0.00% 1 Bin #2 Bombardier
Aerospace

2651027-1 Bolt 0.0000 64.80 0.00% 1 Bin #2 Standard Aero -
Tempe

26C323P01 Brush 0.0000 0.00 0.00% 2 Bin #2 Bombardier
Aerospace

278D449P10 #3 SEAL SUPPORT 0.0000 2,500.00 0.00% 2 Sky Support
Turbines

278D452P6 SUPPORT 0.0000 2,210.00 0.00% 3 Aircraft & Turbine
Support

278D521P8 HOUSING-BEARING 0.0000 50.00 0.00% 2 Bin #2 Aircraft & Turbine
Support

6 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
278D640P1 NOZZLE, OIL 0.0000 50.00 0.00% 2 Bin #2 Aircraft & Turbine
Support
27S3-3S Camlock 0.0000 5.48 0.00% 7 East Coast Aviation
Supplies, Inc.
27S3-5S8 Camlock S/S 0.0000 6.00 0.00% 7 East Coast Aviation
Supplies
27S5-1 Retaining Ring 0.0000 0.60 0.00% 100 East Coast Aviation
Supplies
2901T26P01 Pad washer 0.0000 13.88 0.00% 1
2920T22G02 8TH STAGE 0.0000 1,580.00 0.00% 2 Aircraft & Turbine
STATIONARY SEAL Support, Inc.
2920T22G03 Seal, stationary, stage 8 0.0000 1,580.00 0.00% 1 Aircraft & Turbine
Support
2920T22G04 STATIONARY SEAL 0.0000 1,580.00 0.00% 2 Aircraft & Turbine
Support
299C411P16 O-RING 0.0000 3.75 0.00% 1 DK Turbines
299C413P3 PACKING 0.0000 3.00 0.00% 3 Channellock
299C413P5 PACKING 0.0000 5.25 0.00% 5 DK Turbines
299C728P3 Lock strip 0.0000 3.60 0.00% 83 GE Structured
Services
2CM82J1B Starter generator 0.0000 4,500.00 0.00% 1 Aircraft
Components
Company
2CM9ABE-6 Generator, tachometer 0.0000 575.00 0.00% 2
2CM9ACE7 TACH GENERATOR 0.0000 575.00 0.00% 1 Channellock
30-2382-5 Nav Light 0.0000 0.00 0.00% 1  Shelf
3000T59P02 BOLT 0.0000 6.30 0.00% 10 GE Structured
Services
3000T69P01 Tube, Scavenge, R/H 0.0000 50.00 0.00% 1 Aircraft & Turbine
Support
3001T16P0O1 GASKET 0.0000 18.65 0.00% 4 GE Structured
Services
3002T03P0O1 NOZZLE, 0.0000 422.25 0.00% 2 Aircraft & Turbine
LUBRICATING Support
3003T10P02 STUD 0.0000 44.62 0.00% 2 Sky Support
Turbines
3003T22P01 Shield, forward 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
3003T39P01 FASTENER, BLADE 0.0000 7.13 0.00% 446 Kansas Aviation
3003T43P01 Plunger Bullet Nose 0.0000 589.68 0.00% 3 GE Structured
Services
3003T54P01 Retainer, bearing, #4 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support
3004T33P01 SCREW 0.0000 41.85 0.00% 8 DK Turbines
7 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
3005T19P01 SHIELD, REAR 0.0000 321.57 0.00% 1 Aircraft & Turbine
Support
3006T81P01 BAFFLE 0.0000 1,139.10 0.00% 1 Aircraft & Turbine
Support
3007T80P0O1 SHOULDER SCREW 0.0000 30.00 0.00% 8 DK Turbines, LLC
3007T98P01 SHAFT ASSY, COMP 0.0000 16,929.00 0.00% 3 GE Structured
DRIVE Services
3008T89P01 RING, MATING 0.0000 200.00 0.00% 4 Aircraft & Turbine
Support
3008T90P01 MATING RING 0.0000 200.00 0.00% 3 Aircraft & Turbine
Support
301 Lamp, 81642 0.0000 3.16 0.00% 4 Aviall
3010T73P01 BRACKET 0.0000 25.00 0.00% 1 Bin #2 Aircraft & Turbine
Support
3012T97P01 NUT 0.0000 20.00 0.00% 6 GE Structured
Services
3014T40P01 BEARING SPACER 0.0000 37.00 0.00% 2 Aircraft & Turbine
Support
3014T48P01 NUT, SELF-LOCK 0.0000 15.23 0.00% 10 GE Structured
Services
3014T49P01 BOLT 0.0000 156.40 0.00% 3 GE Structured
Services
3014T59P01 BOLT, MACHINE 0.0000 17.03 0.00% 10 GE Structured
Services
3014T93P06 RING 0.0000 3.12 0.00% 3 Bin #2 Aircraft & Turbine
Support
3016T37P01 T-BOLT 0.0000 218.00 0.00% 6 GE Structured
Services
3016T48P01 RING RETAINING 0.0000 24.72 0.00% 5 Bin#2 Aircraft & Turbine
Support
3016T48P02 RING, RETAINING 0.0000 92.92 0.00% 2 Bin #2 Aircraft & Turbine
Support
3018T16P01 SEAL RING 0.0000 256.57 0.00% 5 Aircraft & Turbine
Support
3020052-24 Lip seal, 731 breather 0.0000 66.96 0.00% 1 Bin #2
valve
3028T32P01 COVER 0.0000 233.51 0.00% 2 Sky Support
Turbines
3029T95P01 LOCKSTRIP 0.0000 3.58 0.00% 1 DK Turbines
3029T96P01 LOCKSTRIP 0.0000 6.50 0.00% 1 DK Turbines
303 Lamp, 26127, AML303 0.0000 2.84 0.00% 18 East Coast Aviation
Supplies, Inc.
3030T25P01 RING 0.0000 49.00 0.00% 12 GE Structured
Services
3038100-5 Ignition Unit 0.0000 0.00 0.00% 1
304 GE304 Lamp 0.0000 3.24 0.00% 1
8 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

30421100 Fire Extinguisher 0.0000 1,000.00 0.00% 1 shelf

3049T08P0O1 GASKET 0.0000 2.80 0.00% 11 GE Structured
Services

305 Lamp 0.0000 4.34 0.00% 1 Bin #2

3070835-1 Gasket 0.0000 4.50 0.00% 14 Bin#2 Bizjet International

3071140-2 Shim 0.0000 27.89 0.00% 2 Bin #2 Honeywell
International

3071418-1 Gasket 0.0000 5.55 0.00% 2 Standard
Aero-Tempe

3071419-1 Gasket 0.0000 3.39 0.00% 4 Standard
Aero-Tempe

3071421-1 Gasket 0.0000 3.63 0.00% 4 Standard
Aero-Tempe

3071924-2 Plate, Backup 0.0000 0.00 0.00% 1 Bin #2

3077145-1 Kit, Fuel control 0.0000 72.36 0.00% 1 Standard

installation Aero-Tempe

307AF Lamp 0.0000 3.00 0.00% 3 Bin #2 Worthington
Aviation Parts

30B37-49AT Starter Generator 0.0000 4,500.00 0.00% 1 Aircraft & Turbine
Support

311SM7-T Switch 0.0000 14.55 0.00% 1

313 Lamp, GE313 0.0000 1.56 0.00% 6 Aviall

321600 Battery Terminal 0.0000 2.04 0.00% 1 Bin #2 Aircraft Spruce &
Specialty

321897 terminal 0.0000 4.60 0.00% 3 Bin #2 Bombardier
Aerospace

321898 terminal 0.0000 4.60 0.00% 3 Bin #2 Bombardier
Aerospace

327 Lamp 0.0000 0.50 0.00% 15 Hawker Beechcraft
Corp.

327B459P1 NUT, LOCK 0.0000 1.00 0.00% 26 Bin#3 Aircraft & Turbine
Support

327B460P2 BOLT 0.0000 25.40 0.00% 2 GE Structured
Services

327B486P003 WASHER 0.0000 12.60 0.00% 4 GE Structured
Services

327B517P1 GASKET 0.0000 4.50 0.00% 24 DK Turbines

327B527P1 PIN 0.0000 22.34 0.00% 1 GE Structured
Services

327B589P1 LOCK 0.0000 33.75 0.00% 2 GE Structured
Services

327B611P1 LOCK-NUT 0.0000 50.00 0.00% 2 Aircraft & Turbine
Support

327B617P5 SEAL 0.0000 232.00 0.00% 5 Aircraft & Turbine
Support

9 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

327B621P1 BEARING, BALL 0.0000 200.00 0.00% 1 Bin #3 Aircraft & Turbine
Support

327B636P8 PIN, CLEVIS 0.0000 15.30 0.00% 2 Premier Turbines

327B759P3 WASHER 0.0000 2.38 0.00% 79 GE Structured
Services

328 GE328 LAMP 28546 0.0000 0.60 0.00% 6 Aviall

3284376 Washer, insulated 0.0000 124.61 0.00% 1 Bin #3 Bombardier
Aerospace

3284377 Washer, insulated 0.0000 39.15 0.00% 1 Bin #3 Bombardier
Aerospace

33350CA048 Washer, lock 0.0000 3.75 0.00% 2 Bin #3 Duncan Aviation

335 Lamp, GE335 0.0000 1.00 0.00% 8 Aviall

345 Bulb 0.0000 4.52 0.00% 9 Tulsair Beechcraft

3613465-1 Gasket, atomizer, 0.0000 7.50 0.00% 1 Bin #3 Standard

694739 Aero-Tempe

362-616-9001 Packing 0.0000 25.50 0.00% 1 Bin #3 Aircraft & Turbine
Support

371P10-1 GATE 0.0000 60.00 0.00% 6 Aircraft & Turbine
Support

371P10-3 Gate 0.0000 60.00 0.00% 6 Aircraft & Turbine
Support

371P16 SCREW 0.0000 3.60 0.00% 11 Aircraft & Turbine
Support

374P20 Cover 0.0000 24.00 0.00% 9 Aircraft & Turbine
Support

374P21 Gate 0.0000 60.00 0.00% 8 Aircraft & Turbine
Support

374U13 Slide bar 0.0000 10.00 0.00% 3 Aircraft & Turbine
Support

378A3 Camplate 0.0000 50.00 0.00% 3 Aircraft & Turbine
Support

378P35-3 ROLLER 0.0000 30.24 0.00% 6 GE Structured
Services

378P35-4 ROLLER 0.0000 31.19 0.00% 12 Aircraft & Turbine
Support

378P35-5 ROLLER 0.0000 34.02 0.00% 2 GE Structured
Services

378P36 NAMEPLATE 0.0000 37.00 0.00% 5 Aircraft & Turbine
Support

378P38 INSERT, PLASTIC 0.0000 40.00 0.00% 1 Aircraft & Turbine
Support

37B201074P101 TEE, REDUCER 0.0000 25.00 0.00% 2 Bin #3 Aircraft & Turbine
Support

37B201190P101 SUPPORT 0.0000 150.00 0.00% 4

37B201207P101 O-RING 0.0000 28.35 0.00% 5 DK Turbines

10 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
37B201207P102 O-RING 0.0000 32.40 0.00% 5 DK Turbines
37B201207P103 O-RING 0.0000 24.00 0.00% 3 DK Turbines
37B201207P105 O-RING 0.0000 27.30 0.00% 4 DK Turbines
37B201207P107 O-RING 0.0000 15.00 0.00% 1 DK Turbines
37B201207P108 O-RING 0.0000 59.40 0.00% 2 DK Turbines
37B201207P109 O-RING 0.0000 12.60 0.00% 5 DK Turbines
37B201207P111 O-RING 0.0000 27.75 0.00% 2 DK Turbines
37B201215P101 HOSE 0.0000 135.00 0.00% 1 DK Turbines
37B201228P102 BLEED VALVE 0.0000 5.20 0.00% 30 Bizjet International
GASKET
37B201238P102 Bracket 0.0000 12.15 0.00% 15 GE Structured
Services
37B201256P101 WEIGHT, 0.0000 67.50 0.00% 2 DK Turbines
COUNTERBALANCE
37B201257P101 WEIHT, 0.0000 24.00 0.00% 2 DK Turbines
COUNTERBALANCE
37B201258P101 WASHER 0.0000 21.00 0.00% 2 DK Turbines
37B201334P101 TAB, LOCK 0.0000 2.80 0.00% 21 GE Structured
Services
37B201393P101 WEIGHT, BALANCE 0.0000 54.00 0.00% 2 DK Turbines
37B201394P101 WEIGHT, 0.0000 72.90 0.00% 2 DK Turbines
COUNTERBALANCE
37B201395P101 WEIGHT, BALANCE 0.0000 42.30 0.00% 3 DK Turbines
37B201478P101 Pin 0.0000 27.90 0.00% 20 GE Structured
Services
37B201591P101 TUBE 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
37B201650P105 SEAL 0.0000 37.80 0.00% 2 DK Turbines
37B201713P102 Packing 0.0000 37.67 0.00% 2 Tailored Logistics
Corp.
37B201714P103 PACKING 0.0000 8.40 0.00% 2 GE Structured
Services
37B211023P101 GASKET 0.0000 9.00 0.00% 10 GE Structured
Services
37B211033P101 GASKET 0.0000 9.00 0.00% 3 DK Turbines
37B211063P102 KEY-STATOR-VANE 0.0000 15.97 0.00% 1 Sky Support
Turbines
37C301228P101 Tube, Scavenge, L/H 0.0000 50.00 0.00% 1 Aircraft & Turbine
Support
37C301298P101 Inner stationary seal 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
37C301298P104 SEAL, INNER 0.0000 3,271.95 0.00% 2 Aircraft & Turbine
Support
11 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
37C301320P101 STUD 0.0000 14.16 0.00% 2 GE Structured
Services
37C301320P102 STUD 0.0000 7.49 0.00% 40 GE Structured
Services
37C301448P105 ACTUATOR LEVER 0.0000 303.00 0.00% 8 Aircraft & Turbine
Support
37C301557G001 TRANSFER GEARBOX 0.0000 500.00 0.00% 2 Sky Support
ADAPTER Turbines
37C301561P102 COUPLING COVER 0.0000 100.00 0.00% 6 Aircraft & Turbine
Support
37C301562P102 SHAFT COVER 0.0000 250.00 0.00% 3 Aircraft & Turbine
Support, Inc.
37C301587P101 BEARING, BALL, 0.0000 89.78 0.00% 2 GE Structured
THRUST Services
37C301777G004 FUEL DRAIN VALVE 0.0000 450.00 0.00% 1 Aircraft & Turbine
Support
37C301819G001 FUEL PRESSURIZING 0.0000 550.00 0.00% 1 Aircraft & Turbine
VALVE Support
37C301961P102 SHAFT, STRAIGHT 0.0000 3,208.84 0.00% 2 Sky Support
Turbines
37C302307P116 RING SEALING 0.0000 204.00 0.00% 4 GE Structured
Services
37C311037P105 TEE, TUBE, A/l 0.0000 771.93 0.00% 1 Aircraft & Turbine
Support
37C311077P101 COLLECTOR 0.0000 392.04 0.00% 2 Sky Support
Turbines
37C311082P101 OIL SLINGER 0.0000 290.79 0.00% 2 Sky Support
Turbines
37C311083P104 Seal, stationary, stage 8 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
37C311083P105 SEAL, STG 8 0.0000 5,904.26 0.00% 1 Aircraft & Turbine
Support
37C311083P106 Stage 8 stationary seal 0.0000 1,935.00 0.00% 1 Sky Support
Turbines
37C311098P101 Ignition lead (short) 0.0000 650.00 0.00% 2 Aircraft & Turbine
Support
37C311098P102 IGNITOR LEAD (LONG) 0.0000 750.00 0.00% 1 Aircraft & Turbine
Support
37C311117P101 RING, MATING 0.0000 200.00 0.00% 3 Aircraft & Turbine
Support
37D401302P101 STAGE 2 SPACER 0.0000 2,805.00 0.00% 1 Aircraft & Turbine
Support
37D401302P103 SPACER, STAGE 2 0.0000 13,392.23 0.00% 1 Aircraft & Turbine
Support
37D401303P102 STAGE 3 SPACER 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support
37D401303P104 SPACER, STAGE 3 0.0000 15,911.78 0.00% 1 Aircraft & Turbine
Support
12 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
37D401304P104 STAGE 4 SPACER 0.0000 1,402.75 0.00% 1 Aircraft & Turbine
Support
37D401306P103 STAGE 6 SPACER 0.0000 1,309.24 0.00% 1 Aircraft & Turbine
Support
37D401306P105 SPACER, STAGE 6 0.0000 11,303.33 0.00% 1 Aircraft & Turbine
Support
37D401307P103 STAGE 7 SPACER 0.0000 9,858.00 0.00% 1 Aircraft & Turbine
Support
37D401310P101 TUBE ASSY. 0.0000 25.00 0.00% 2 Bin #3 Aircraft & Turbine
Support
37D401312P101 STAGE 2 DISC 0.0000 11,922.00 0.00% 2 Aircraft & Turbine
Support
37D401313P101 STAGE 3 DISC 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support
37D401317P101 STAGE 7 DISC 0.0000 1,470.00 0.00% 1 Aircraft & Turbine
Support
37D401327P101 INSULATION BLAN 0.0000 125.00 0.00% 2 Aircraft & Turbine
Support
37D401328P101 BLANKET, INSUL 0.0000 50.00 0.00% 2 Aircraft & Turbine
Support
37D401407P101 Cover, fan front frame 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
37D401472P101 Stage 1 Shroud 0.0000 607.50 0.00% 2 GE Structured
segment Services
37D401494P101 TUBE, SCAVENGE 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
37D401497P102 COVER PLATE 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
37D401519P112 Tube, scavenge and air 0.0000 125.00 0.00% 1 Sky Support
Turbines
37D401575P101 AIR DUCT 0.0000 250.00 0.00% 2 Aircraft & Turbine
Support
37D401642P103 Anti Ice valve 0.0000 2,950.00 0.00% 1 Sky Support
Turbines
37D401649P107 Support, bearing, rear 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
37D401657P110 FUEL NOZZLE 0.0000 625.00 0.00% 60 Aircraft & Turbine
ASSEMBLY Support, Inc.
37D401672P106 TUBE 0.0000 338.25 0.00% 1 Aircraft & Turbine
Support
37D401705P105 COVER, OIL-JET 0.0000 9,371.25 0.00% 1 Aircraft & Turbine
Support, Inc.
37D401739P111 Probe, Pressure PT5 0.0000 800.00 0.00% 2 Aircraft & Turbine
Support
37D402261P112 NUT, PLAIN-ROUND 0.0000 25.00 0.00% 5 Bin #3 Aircraft & Turbine
Support
37D402261P113 NUT, PLAIN ROUND 0.0000 25.00 0.00% 2 Bin #3 Aircraft & Turbine
Support
13 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
37E501086P111 Stage 1 compressor 0.0000 877.50 0.00% 24 Aircraft & Turbine
blade Support
37E501153P108 Stage 3 compressor 0.0000 80.00 0.00% 172 Aircraft & Turbine
blade Support
37E501154P108 Stage 4 compressor 0.0000 99.00 0.00% 106 Aircraft & Turbine
blade Support
37E501247P101 R/H FUEL MANIFOLD 0.0000 300.00 0.00% 4 Aircraft & Turbine
Support
37E501248P101 MANIFORD, FUEL, L 0.0000 300.00 0.00% 2 Aircraft & Turbine
Support
37E501337P101 TUBE, PS 0.0000 70.00 0.00% 1 Aircraft & Turbine
Support
37E501400P113 SCAVENGE AND LUBE 0.0000 100.00 0.00% 1 Sky Support
TUBE Turbines
37E501403P101 L/H FUEL MANIFOLD 0.0000 500.00 0.00% 2 Aircraft & Turbine
Support
37E501428P106 Stage 1 compressor disc 0.0000 528.00 0.00% 1 Aircraft & Turbine
Support
37E501466P101 EPR MANIFOLD 0.0000 500.00 0.00% 1 Sky Support
Turbines
37E501502P110 Bleed valve Assembly 0.0000 1,950.00 0.00% 1 Sky Support
Turbines
37E501517P101 Stator sector, 0.0000 0.00 0.00% 1 Aircraft & Turbine
compressor, stage 7 Support, Inc.
3820-01 Filter 0.0000 35.10 0.00% 1 Bin#3 Standard
Aero-Tempe
387 GE 387 Lamp 0.0000 0.38 0.00% 2 Aviall
3920T60G01 #2 CARBON SEAL 0.0000 0.00 0.00% 1 Sky Support
HOUSING Turbines
3920T61G01 #3 seal housing 0.0000 0.00 0.00% 1 Sky Support
Turbines
3920T62G01 Stationary air seal 0.0000 1,250.00 0.00% 3 Sky Support
Turbines
3MCI-200-2.0 Circuit Breaker 0.0000 33.75 0.00% 1 Bin #3 Signature Flight
Support
4000T01PO7 SCAVENGE TUBE 0.0000 25.00 0.00% 1 Bin#3 Aircraft & Turbine
Support
4000T03P12 Stage One Stator Assy. 0.0000 1,020.00 0.00% 1 Aircraft & Turbine
Support
4000T04P08 STAGE 2 STATOR 0.0000 2,580.00 0.00% 1 Sky Support
SECTION Turbines
4000TO5P07 BAFFLE 0.0000 50.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
4001T49P01 SHROUD AND SEAL 0.0000 800.00 0.00% 3 Aircraft & Turbine
Support
4001T94G05 Air Leakage Check 0.0000 400.00 0.00% 2 Aircraft & Turbine
Valve Support
14 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
4002T20P02 SEAL 0.0000 1,531.50 0.00% 2 Sky Support
Turbines
4002T55P01 SUMP COVER 0.0000 1,755.00 0.00% 3 Aircraft & Turbine
Support
4002T55P04 SUMP COVER 0.0000 2,340.00 0.00% 1 Sky Support
Turbines
4002T67P06 KEY WASHER 0.0000 25.00 0.00% 5 Bin #3 Aircraft & Turbine
Support
4002T67P07 KEY WASHER 0.0000 25.00 0.00% 2 Bin #3 Aircraft & Turbine
Support
4002T82P01 BEARING 0.0000 200.00 0.00% 2 Bin#3 Aircraft & Turbine
Support
4002T85P01 SHROUD 0.0000 480.33 0.00% 4 Sky Support
Turbines
4002T85P08 Undersize stage 2 0.0000 700.00 0.00% 5 Sky Support
shroud segment Turbines
4002T86P01 St. 2 Shroud 0.0000 748.44 0.00% 4 Sky Support
Turbines
4002T86P09 Undersize stage 2 0.0000 700.00 0.00% 1 Sky Support
shroud Turbines
4003T04P02 SHIELD 0.0000 143.64 0.00% 4 Aircraft & Turbine
Support
4003T15P01 Interstage seal 0.0000 1,400.00 0.00% 2 Sky Support
Turbines
4003T33P01 Baffle, front 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.
4003T41G01 VALVE ASSY, CHK 0.0000 700.00 0.00% 2 Aircraft & Turbine
Support, Inc.
4003T78P01 FORWARD 0.0000 6,500.00 0.00% 2 Aircraft & Turbine
TRANSITION SEAL Support
4004T21P01 Transition seal. rear 0.0000 4,400.00 0.00% 1 Aircraft & Turbine
Support, Inc.
4004T31G02 Support, transition seal, 0.0000 0.00 0.00% 2 Aircraft & Turbine
front Support, Inc.
4004T89P01 SHIELD, HT. SHAFT 0.0000 731.43 0.00% 1 Sky Support
Turbines
4004T89P14 SHIELD, HT. SHAFT 0.0000 240.57 0.00% 1 Sky Support
Turbines
4004T90P01 SHIELD, HT, LUBE 0.0000 93.15 0.00% 1 Sky Support
Turbines
4005T14P01 Tube, fuel flow meter to 0.0000 80.00 0.00% 1 Sky Support
cooler Turbines
4005T91P01 RUNNER 0.0000 4,070.00 0.00% 2 Aircraft & Turbine
Support
4006T15P01 SUPPORT, CLAMP 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
4006T17P01 SUPPORT, CLAMP 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
15 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
4006T53P01 SHAFT, DRIVE 0.0000 3,362.88 0.00% 1 GE Structured
Services
4006T53P02 SHAFT, DRIVE 0.0000 1,901.71 0.00% 2 Sky Support
Turbines
4006T61P01 SYNC CABLE 0.0000 1,110.40 0.00% 5 Aircraft & Turbine
Support
4007T08P0O1 RUNNER, SEAL 0.0000 1,071.63 0.00% 2 Aircraft & Turbine
Support
4007T13P01 Interstage seal segment 0.0000 650.00 0.00% 2 Infinity Technology
4007T13P04 Interstage seal segment 0.0000 510.00 0.00% 2 Infinity Technology
4007T29P01 SHROUD, STG 1 0.0000 1,282.23 0.00% 7 Sky Support
Turbines
4007T29P07 Stage one shroud 0.0000 900.00 0.00% 1 Infinity Technology
segment
4007T30P01 SHROUD 0.0000 1,653.75 0.00% 5 Sky Support
Turbines
4007T30P06 Stage one shroud 0.0000 900.00 0.00% 1 Infinity Technology
segment
4008T41P01 BEARING 0.0000 200.00 0.00% 2 Bin #3 Sky Support
Turbines
4008T42P01 BEARING 0.0000 1,126.13 0.00% 1 Sky Support
Turbines
400977 Snap ring 0.0000 3.63 0.00% 1 Bin #3 Dassault Falcon
4010T01P0O1 SEAL, LABRY, STG 8 0.0000 8,386.50 0.00% 2 Aircraft & Turbine
Support
4011T02G02 ELBOW FLANGE 0.0000 569.04 0.00% 2 Aircraft & Turbine
Support
4011T06G07 8th Stage Stationary 0.0000 1,116.45 0.00% 1 Aircraft & Turbine
Seal Support, Inc.
4014T31P01 LOCK NUT 0.0000 150.00 0.00% 3 Sky Support
Turbines
4026T60P01 RING, RETAINING 0.0000 28.80 0.00% 1 Bin #3 Aircraft & Turbine
Support
402AH Valve core 0.0000 0.62 0.00% 10 Aviall
4036T72P01 LOCKSTRIP 0.0000 1.80 0.00% 256 GE Structured
Services
4036T72P02 LOCK STRIP 0.0000 7.50 0.00% 10 DKTurbines
405-3 Terminal, crimps 0.0000 4.62 0.00% 3 Bin #3 Hawker Beechcraft
Corp.
4067T62P01 STUD, SHOULDERED 0.0000 32.24 0.00% 18 Sky Support
Turbines
41-0001 Gasket 0.0000 74.50 0.00% 1 Bin #3 Channellock
4271200100427S Food Tray Latch 0.0000 10.00 0.00% 5 Bin#3 Aircraft & Turbine
F Support
4271201100330S Food Tray Latch 0.0000 10.00 0.00% 11 Bin#3 Aircraft & Turbine
F Support
16 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

4271201100427S Food Tray Latch 0.0000 10.00 0.00% 3 Bin #3 Aircraft & Turbine

F Support

4505 Lamp 0.0000 18.11 0.00% 2 Channellock

452-16-12 Lanyard 0.0000 9.56 0.00% 4 Hawker Beechcraft
Corp.

455-7026 ELT 110-4 0.0000 2,652.35 0.00% 1 Aviall

4580 Lamp 24859 12 0.0000 34.43 0.00% 1 Channellock

4581 Lamp, GE 4581 0.0000 34.68 0.00% 1 Aviall

4587 GE4587 Lamp 0.0000 32.09 0.00% 1 Business Aircraft
Consumables

4589 Lamp, 24873 12 0.0000 18.56 0.00% 2 Aviall

4648 Gasket 0.0000 71.28 0.00% 1 Bin #3 Western Aircraft
Parts

47188 FILTERS 0.0000 9.00 0.00% 107

47189 VALVE SEAL 0.0000 33.75 0.00% 24

47190 GASKET 0.0000 27.16 0.00% 51 Turbine Fuel
Technologies

47827 RETAINER 0.0000 10.50 0.00% 201 Turbine Fuel
Technologies

4900T16P01 PARTITION 0.0000 234.36 0.00% 15 GE Structured
Services

4901T07P01 INNER BAND SEAL 0.0000 332.68 0.00% 1 GE Structured

CLIP Services
4920T50P01 Fan rotor carbone seal 0.0000 0.00 0.00% 1 Aircraft & Turbine
runner Support, Inc.

4950037 Fuel pump 0.0000 3,500.00 0.00% 1

4950381 Seal 0.0000 658.40 0.00% 1 Bin #3 Dassault Falcon

5000T81P01 Inlet Guide Vane 0.0000 550.00 0.00% 56 Aircraft & Turbine
Support

5001T96P13 Housing, bearing, rear 0.0000 0.00 0.00% 1 Aircraft & Turbine
Support, Inc.

5001T98P12 Housing, bearing, front 0.0000 300.00 0.00% 2 Aircraft & Turbine
Support

5002T21P01 SEAL 0.0000 32.00 0.00% 8 GE Structured
Services

5002T26P01 TUBE ASSY 0.0000 2,634.75 0.00% 1 Aircraft & Turbine
Support

5002T26P11 TUBE ASSY 0.0000 406.62 0.00% 1 Aircraft & Turbine
Support

5002T28P01 TUBE ASSY 0.0000 1,256.85 0.00% 1 Aircraft & Turbine
Support, Inc.

5002T48P02 FUEL ACTUATOR 0.0000 1,650.00 0.00% 11 Aircraft & Turbine
Support

5002T94G33 MAIN FUEL CONTROL 0.0000 6,500.00 0.00% 1 Aircraft & Turbine
Support

17 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
5002T97P01 Mount, Trunion 0.0000 500.00 0.00% 2 Aircraft & Turbine
Support
5003185 Washer 0.0000 4.44 0.00% 1 Bin #3 Dassault Falcon
5003T18P01 SUPPORT, BEARING 0.0000 2,760.00 0.00% 1 Aircraft & Turbine
Support, Inc.
5004T01P01 TUBE, OIL 0.0000 826.20 0.00% 1 Aircraft & Turbine
Support
5004T73P02 DRIVE SHAFT 0.0000 0.00 0.00% 1 Sky Support
Turbines
5006T12P01 TUBE ASSEMBLY, 0.0000 648.81 0.00% 1 Aircraft & Turbine
VENT, SUMP Support
5006T14P04 OVERSPEED 0.0000 4,850.00 0.00% 2 Premier Turbines
GOVERNOR 8005-016
5006T41G02 DUCT, LEAK 0.0000 591.00 0.00% 3 Aircraft & Turbine
Support
5008T64P01 MOUNT, TRUNNION 0.0000 700.65 0.00% 2 Sky Support
Turbines
501-1075-02 Emergency Power 0.0000 865.00 0.00% 1 Aircraft & Turbine
Supply, Rental Unit per Support
5011T59G01 SEAL/BAFFLE-ASSY 0.0000 2,783.25 0.00% 2 Aircraft & Turbine
Support
5011T75P03 TURBINE WHEEL 0.0000 35,760.00 0.00% 1 Aircraft & Turbine
STAGE 1 Support
5011T76P03 WHEEL 0.0000 27,302.25 0.00% 1 Aircraft & Turbine
Support
5013T24G01 SHROUD, SLG, STG 1 0.0000 519.75 0.00% 8 Aircraft & Turbine
Support
5013T79P01 DISK, COMPRESSOR, 0.0000 19,817.33 0.00% 2 Aircraft & Turbine
STAGE 5 Support
5013T80P01 DISK, COMPR S6 0.0000 11,127.60 0.00% 2 Aircraft & Turbine
Support
5013T82P01 DISK, COMPR, S7 0.0000 10,471.73 0.00% 1 Aircraft & Turbine
Support
5013T83P01 DISK, COMPR, S8 0.0000 11,171.79 0.00% 1 Aircraft & Turbine
Support
5013T88P01 SPACER, STAGE 4 0.0000 10,818.23 0.00% 1 Aircraft & Turbine
COMP. Support
5013T89P01 Stage 5 compressor 0.0000 14,174.53 0.00% 1 Aircraft & Turbine
spacer Support
5014T22G12 CF700 EPR PROBE 0.0000 0.00 0.00% 1
5015T14P01 Stage 5 Compressor 0.0000 0.00 0.00% 131 Aircraft & Turbine
Blade Support, Inc.
5015T15P01 Stage 6 compressor 0.0000 110.00 0.00% 127 Aircraft & Turbine
blade Support
5015T16P01 Stage 7 compressor 0.0000 128.90 0.00% 286 Aircraft & Turbine
blade Support
5015T77G02 THIRD STAGE 0.0000 542.70 0.00% 45 Aircraft & Turbine
STATOR Support, Inc.
18 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
5015T77G05 THIRD STAGE 0.0000 542.70 0.00% 10 Aircraft & Turbine
STATOR STOP Support, Inc.
5015T78G02 FOURTH STAGE 0.0000 550.80 0.00% 1 Aircraft & Turbine
STATOR Support, Inc.
5015T80G02 STATOR SEGMENTSstg 0.0000 544.32 0.00% 4 Aircraft & Turbine
7 Support
5015T80G05 SECTOR, S7S 0.0000 544.32 0.00% 3 Aircraft & Turbine
Support
5015T81G01 EXIT GUIDE VANE 0.0000 1,281.00 0.00% 29 Sky Support
Turbines
5015T81G02 EXIT GUIDE VANE 0.0000 1,415.93 0.00% 3 Sky Support
STOP Turbines
5016T78G01 P-3 AIR TUBE 0.0000 600.00 0.00% 2 Sky Support
Turbines
5017T52G03 LOCKNUT/OIL SEP 0.0000 20,475.00 0.00% 2 Aircraft & Turbine
Support, Inc.
5018T16P01 STAGE 4 DISC 0.0000 12,849.75 0.00% 1 Aircraft & Turbine
Support
5019T79G06 Undersize stage 2 0.0000 1,000.00 0.00% 3 Aircraft & Turbine
shroud segment Support, Inc.
5019T80G06 SHROUD, STG 2 0.0000 1,425.00 0.00% 2 Aircraft & Turbine
Support, Inc.
5020T20P01 Bearing #1 0.0000 1,614.81 0.00% 1 GE Structured
Services
5045T28P03 Bearing, #7 0.0000 2,432.60 0.00% 1 GE Structured
Services
5045T98P01 SEAL, RUB, AGB 0.0000 195.00 0.00% 1 DK Turbines
5045T99P03 CARBON SEAL 0.0000 378.00 0.00% 1 DK Turbines
5053T20P03 CARBON SEAL 0.0000 799.47 0.00% 2 GE Structured
Services
5053T21P03 CARBON SEAL 0.0000 297.00 0.00% 1 DK Turbines
5053T23P01 CARBON SEAL 0.0000 390.00 0.00% 1 DK Turbines
5053T36P01 #5 Roller bearing 0.0000 1,350.75 0.00% 1 GE Structured
Services
51094 Moly 50 anti-seize 0.0000 50.00 0.00% 1 Aviall
5232279 SHAFT 0.0000 94.00 0.00% 1
5232281PR SPRING 0.0000 5.25 0.00% 16 GE Structured
Services
5232282 SCREW 0.0000 10.00 0.00% 2
5232283 LOCK SCREW 0.0000 61.00 0.00% 2
5232288 FILTER 0.0000 10.00 0.00% 4
5232291 SPRING 0.0000 25.00 0.00% 13
5232292 CAP 0.0000 20.00 0.00% 15
19 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
5232293 INNER SPRAY TIP 0.0000 50.00 0.00% 29 Aircraft & Turbine
Support
5232300 SPACER 0.0000 60.00 0.00% 11
5232655 SPRAY TIP NUT 0.0000 100.00 0.00% 13 Aircraft & Turbine
Support
525-124-9005 Nut 0.0000 3.00 0.00% 4  Bin#3 Aircraft & Turbine
Support
52672 Fire retardant guideline 0.0000 17.10 0.00% 1 Shelf Hawker Beechcraft
tape 1"x 36 Corp.
52LHTA517-02 Nut plate 0.0000 0.64 0.00% 32 Bin#3 Dassault Falcon
56995-0101 Battery, ELT 910 0.0000 194.04 0.00% 1 AA Aviation Parts &
Supplies Co,
5900T23G01 PARTITION 0.0000 1,126.05 0.00% 2 GE Structured
Services
5900T30G01 PARTITION 0.0000 371.00 0.00% 7
5920-99-012- FUSE, 3 amp 0.0000 11.01 0.00% 7 Hawker Beechcraft
0075 Corp.
5920-99-012- Fuse, 5 amp 0.0000 12.87 0.00% 5 Hawker Beechcraft
0076 Corp.
5920-99-012- Fuse, 7 amp 0.0000 9.30 0.00% 7 All West Aviation
0077
5920-99-012- Fuse, 20 amp 0.0000 20.34 0.00% 5 Hawker Beechcraft
0080 Corp.
59FT632 NUT 0.0000 1.00 0.00% 29 Aircraft & Turbine
Support
6002T57P01 Fan Blucket 0.0000 1,250.00 0.00% 17 Aircraft & Turbine
Support, Inc.
6002T57P05 FAN BLUCKET 0.0000 2,500.00 0.00% 55 Aircraft & Turbine
Support
6002T57P06 BLADE, FAN 0.0000 2,750.00 0.00% 3 Aircraft & Turbine
Support, Inc.
6003T09P04 LUBE TANK 0.0000 655.59 0.00% 2 Aircraft & Turbine
Support
6003T46P01 FEEDBACK CONTROL 0.0000 500.00 0.00% 2 Aircraft & Turbine
CABLE Support
6003T47G02 Turbine Cases 0.0000 4,500.00 0.00% 1 Aircraft & Turbine
Support
6004T01P36 STAGE ONE NOZZLE 0.0000 18,500.00 0.00% 1 Aircraft & Turbine
Support
6004T40G09 Accessory Gearbox 0.0000 5,400.00 0.00% 1 Shelf Aircraft & Turbine
Support
6006T83G03 Casing, Turbine 0.0000 600.00 0.00% 1 Aircraft & Turbine
Support
6009T97P03 STAGE ONE BLADE 0.0000 371.25 0.00% 55 Aircraft & Turbine
Support
6010T32P01 STAGE TWO NOZZLE 0.0000 12,000.00 0.00% 1 Aircraft & Turbine
HALF Support
20 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
6014T95P01 HARN ASSY, T/C 0.0000 7,500.00 0.00% 1 GE Structured
Services
6041H202 Contactor 0.0000 550.80 0.00% 1 Bombardier
Aerospace
6050001-12 Gasket 0.0000 6.90 0.00% 3 Bombardier
Aerospace
6050001-13 Gasket 0.0000 4.13 0.00% 2 Standard
Aero-Tempe
612A51-0012-2 Seal 0.0000 32.78 0.00% 1 Hawker Beechcraft
Corp.
612A51-0020-2 Seal 0.0000 66.45 0.00% 1 Hawker Beechcraft
Corp.
612A51-0038-2 Seal, C type 0.0000 40.30 0.00% 2 Bombardier
Aerospace
6240-99-995- Filament 0.0000 1.48 0.00% 4 Hawker Beechcraft
1284 Corp.
6240-99-995- Bulb 0.0000 2.14 0.00% 5 Hawker Beechcraft
9182 Corp.
628 Bulb 0.0000 31.31 0.00% 1 Aviall
634E529P11 Stage 2 compressor 0.0000 104.00 0.00% 120 Aircraft & Turbine
blade Support
634E721P10 Shaft Shield 0.0000 471.20 0.00% 6 Aircraft & Turbine
Support
645003U5 Gasket 0.0000 3.80 0.00% 2 Bin #3 Bombardier
Aerospace
646C560P2 LOCKNUT 0.0000 254.34 0.00% 2 Aircraft & Turbine
Support
646C590P02 Seal, Turbine, Outer 0.0000 1,575.00 0.00% 1 Aircraft & Turbine
Support
646C612P3 Bracket 0.0000 5.40 0.00% 20
646C653P1 BLANKET, 0.0000 211.90 0.00% 3 Aircraft & Turbine
INSULATION, SHIELD Support
646C654P1 BLANKET, INSUL. 0.0000 113.40 0.00% 2 Aircraft & Turbine
Support
646C690P7 BAFFLE 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
646C693P1 NOZZLE, OIL, RH 0.0000 50.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
653054-517 Gasket 0.0000 10.50 0.00% 5 Worthington
Aviation Parts
653487 Gasket, MS9134-01, 0.0000 1.84 0.00% 6 Aviall
Tach. gen.
655-599-9105 Screw 0.0000 0.00 0.00% 2 Bin #3 Aircraft & Turbine
Support
6600139-1 EPR transmitter 0.0000 1,850.00 0.00% 1 Professional
Aviation Associates
6600301-3 HYDRAULIC PUMP 0.0000 0.00 0.00% 1 Shelf
21 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
6600327-3 Gasket 0.0000 4.00 0.00% 4 Bombardier
Aerospace
6600335-1 Gasket 0.0000 16.50 0.00% 5 Bombardier
Aerospace
6600335-2 Gasket 0.0000 23.40 0.00% 4 Bombardier
Aerospace
6600335-3 Gasket 0.0000 15.75 0.00% 6 Bombardier
Aerospace
6600335-4 Gasket 0.0000 17.66 0.00% 8 Standard
Aero-Tempe
6600335-5 Gasket 0.0000 16.35 0.00% 7 Bombardier
Aerospace
6600335-6 Gasket 0.0000 18.00 0.00% 3 Bombardier
Aerospace
6608317-8 Sensor 0.0000 365.85 0.00% 1 Bin #3 Bombardier
Aerospace
68-1312 Preformed packing 0.0000 0.00 0.00% 2 Bin #3 Cessna Aircraft
Company
68-1606 Packing 0.0000 3.98 0.00% 2 Bin #3 Bombardier
Aerospace
68-450 Packing 0.0000 2.49 0.00% 7 Bin #3 Cessna Aircraft
Company
683 Lamp 0.0000 0.96 0.00% 7 Aviall
6838 Bulb,minature 0.0000 3.24 0.00% 3 Hawker Beechcraft
Corp.
685 Lamp, GE685 0.0000 1.04 0.00% 9 Aviall
6900019-000 Power Supply 0.0000 540.00 0.00% 1 AVMATS/Aviation
Turbines
International
6P345 Sealing Washer 0.0000 11.91 0.00% 1 Bin #3 Hawker Beechcraft
Corp.
6Rx1PHA-SS Sheet metal screw 0.0000 0.10 0.00% 76 Bin#3 East Coast Aviation
Supplies, Inc.
7049 BULB 0.0000 9.68 0.00% 4
7257-201 SEAL 0.0000 30.00 0.00% 91 Kitco Inc.
7270-1-15 Circuit breaker 0.0000 82.35 0.00% 1 Aircraft Spruce &
Specialty
7274-2-10 Breaker 0.0000 47.07 0.00% 1 Aviall
7300-239-001 Bulb 0.0000 91.99 0.00% 1  Shelf PWiI
7300239-033 Bulb 0.0000 0.00 0.00% 1  Shelf
750B-2 Auto valve, drain 0.0000 236.25 0.00% 1 Bin#3 Advanced Aviation
Industries, Inc.
758A138P5 WASHER 0.0000 9.90 0.00% 12 GE Structured
Services
758A148P1 WASHER 0.0000 2.00 0.00% 25 Bin#3 Aircraft & Turbine
Support
22 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
758A852P3 GASKET, FUEL-DRN 0.0000 10.50 0.00% 3 GE Structured
Services
7653308476-001 Weather Seal, Cabin 0.0000 0.00 0.00% 1 Bin #3
door
792-6357-008 Indicator, Attd. Dir. 0.0000 2,185.00 0.00% 1 Aircraft & Turbine
Support
79C9A Fuel Drain 0.0000 155.25 0.00% 1 Bin #3 Bombardier
Aerospace
800-515-8 Lock-O-Seal 0.0000 2.00 0.00% 10 Bin#3 Calport Aviation
Company
800014 Washer 0.0000 17.10 0.00% 1 Bombardier
Aerospace
81 Lamp 25736 10 0.0000 3.08 0.00% 13 Aviall
810-2007/K Battery kit 0.0000 472.50 0.00% 1 Bombardier
Aerospace
841B108P1 PLUG, DRAIN 0.0000 50.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
841B501P1 NUT, LOCK 0.0000 178.82 0.00% 3 Aircraft & Turbine
Support
841B585P1 BEARING 0.0000 200.00 0.00% 2 Bin #3 Sky Support
Turbines
841B591P1 GASKET 0.0000 15.15 0.00% 7 GE Structured
Services
841B602P1 TAB LOCK WASHER 0.0000 2.80 0.00% 15 GE Structured
Services
841B603P2 BOLT, HEX HEAD 0.0000 10.00 0.00% 6 Bin #3 Aircraft & Turbine
Support
841B608P2 SHIM, LAMINATED 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support
841B618P1 GASKET 0.0000 13.50 0.00% 1 DK Turbines
841B629P1 WASHER 0.0000 2.40 0.00% 10 GE Structured
Services
841B629P2 WASHER 0.0000 8.48 0.00% 10 GE Structured
Services
841B629P4 GASKET 0.0000 4.22 0.00% 10 GE Structured
Services
841B629P9 WASHER 0.0000 27.74 0.00% 10 GE Structured
Services
841B708P2 P-3 air gasket 0.0000 3.00 0.00% 9 DK Turbines
841B724P1 WASHER 0.0000 39.96 0.00% 2 GE Structured
Services
841B724P2 WASHER 0.0000 30.12 0.00% 6 GE Structured
Services
841B724P3 WASHER 0.0000 23.25 0.00% 2 GE Structured
Services
841B724P4 BALANCE WASHER 0.0000 23.67 0.00% 4 GE Structured
Services
23 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

841B726P1 WASHER 0.0000 7.20 0.00% 4 GE Structured
Services

841B726P2 WASHER 0.0000 28.40 0.00% 5 GE Structured
Services

841B775P1 SHIM, LAMINATED 0.0000 25.00 0.00% 1 Bin #3 Aircraft & Turbine
Support

841B779P1 WASHER 0.0000 3.68 0.00% 14 GE Structured
Services

841B783P1 PLUG, DRAIN 0.0000 50.00 0.00% 2 Bin #3 Aircraft & Turbine
Support

84960-01 Lock washer 0.0000 9.00 0.00% 1 Bin #3 Unicorn Aviation

8672-2 Erosion Tape, 3M, 2" 0.0000 2.20 0.00% 106 Business Aircraft
Consumables

8672-4 Tape, PPT Clear 0.0000 3.18 0.00% 107 Aviall

4"X36YD, 108 ft.

868495-3 Ring 0.0000 25.95 0.00% 7 Bin #3 Aircraft & Turbine
Support

8DJB1CAE N1 Indicator 0.0000 550.00 0.00% 1 Channellock

8DJ81LWS2 N1 Gauge (falcon 20) 0.0000 2,208.75 0.00% 1

8DJ81LWS4 RPM GUAGE 0.0000 650.00 0.00% 1 Channellock

8E2021-371 Switch 0.0000 32.81 0.00% 1 Bombardier
Aerospace

8GH409570-28 Lamp, Halogen 0.0000 121.50 0.00% 3 Bombardier
Aerospace

8Rx1PHA-SS Sheet metal screw, 0.0000 0.10 0.00% 95 Bin#3 East Coast Aviation

stainless steel Supplies, Inc.

90.90.03.131.00. Cartridge, ceramic, 1/2 0.0000 147.15 0.00% 1 Bin #3 Bombardier

90 inch, cold Aerospace

900845-6C ELBOW 0.0000 50.00 0.00% 2 Bin #3 Aircraft & Turbine
Support

911-2 Cam 0.0000 2.00 0.00% 1 Bin #3 Aircraft & Turbine
Support

94 Lamp 0.0000 3.46 0.00% 4  Bin#3 Aviall

9510014 Weight 0.0000 9.12 0.00% 1 Bin#4 Preferred Airparts

9510015 Weight, 1 1/2 oz. 0.0000 9.44 0.00% 4  Bin#4

952B136P3 PIN 0.0000 34.67 0.00% 2 GE Structured
Services

A-18 SNAP RING 0.0000 2.00 0.00% 2

A102-3D Bolt 0.0000 4.83 0.00% 81 Bin#4 Hawker Beechcraft
Corp.

A102-4D Bolt, hex 0.0000 0.96 0.00% 3 Bin #4 Hawker Beechcraft
Corp.

A103ES Nut, lock 0.0000 7.80 0.00% 1 Bin #4

A110ES Nut 0.0000 12.14 0.00% 2 Bin #4

24 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

A111-12G Bolt 0.0000 12.60 0.00% 1 Bin #4

Al111-6E Bolt 0.0000 3.27 0.00% 1 Bin #4

A113-1-2B Bolt 0.0000 1.82 0.00% 6 Bin #4 APPH Houston

Al113-1-2E Bolt 0.0000 0.62 0.00% 19 Bin#4 Hawker Beechcraft
Corp.

A113-1B Bolt 0.0000 0.62 0.00% 3 Bin #4 APPH Houston

A113-1D Screw, machine, 0.0000 0.72 0.00% 25 Bin#4 Hawker Beechcraft

mushroom head Corp.

A113-1E Bolt 0.0000 1.48 0.00% 9 Bin #4 APPH Houston

Al113-2E Bolt 0.0000 1.04 0.00% 3 Bin #4 Hawker Beechcraft
Corp.

A170-2E Screw 0.0000 6.08 0.00% 12 Bin#4

Al1786-8Z-1D Tinnerman nut 0.0000 0.38 0.00% 6 Bin#4 Aircraft Spruce &
Specialty

A1787-8Z-1D Tinnerman nut 0.0000 0.54 0.00% 4 Bin #4 Aircraft Spruce &
Specialty

A206B12 Screw 0.0000 1.00 0.00% 4  Bin# All West Aviation

A206B14 Screw 0.0000 1.76 0.00% 52 Bin#4 All West Aviation

A25Y Ring 0.0000 9.37 0.00% 11 Bin#4

A29Y Ring 0.0000 14.91 0.00% 1 Bin #4 All West Aviation

A31Y Ring 0.0000 6.45 0.00% 2 Bin #4

A4174-24 Bulb 0.0000 25.35 0.00% 3

A9906-7 Lamp 0.0000 40.92 0.00% 1 Bin#4 Aviall

AA401-12 Bearing 0.0000 3.15 0.00% 2 Bombardier
Aerospace

AC3255F8Y60 Hyd Filter 0.0000 12591 0.00% 1 Dassault Falcon

ADS400-22 Seal 0.0000 28.32 0.00% 2 Bin #4 Hawker Beechcraft
Corp.

AEP1035-08C240 Insert, plastic hinge 0.0000 19.13 0.00% 8 Bin #4 Hunter Electronic
Components

AEP1035-08C375 Insert, plastic hinge 0.0000 19.13 0.00% 8 Bin #4 Hunter Electronic
Components

AGS1186B Gasket 0.0000 15.27 0.00% 1 Bin #4 Hawker Beechcraft
Corp.

AGS1186D Seal 0.0000 15.15 0.00% 2 Bin #4 Hawker Beechcraft
Corp.

AGS2066-409 Rivet, Avdel 0.0000 2.40 0.00% 18  Shelf Hawker Beechcraft
Corp.

AGS2066-510 Rivet 0.0000 1.16 0.00% 19  Shelf Hawker Beechcraft
Corp.

AHO85893 Seal 0.0000 9.23 0.00% 7 Bin #4 Hawker Beechcraft
Corp.

25 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

AJ60-14 Seal 0.0000 50.71 0.00% 2 Dassault Falcon

AL-5113 ALC Connector 0.0000 11.48 0.00% 2 Duncan Aviation

AL2000 Power Supply 0.0000 742.50 0.00% 1 Proserv Aviation

AL5120B Lampholder 0.0000 8.10 0.00% 6 Bin#4 Hawker Beechcraft
Corp.

AL845T195F Lamp 8mm triband 0.0000 181.67 0.00% 1 Thomas Aircraft
Supplies

AN104608 BOLT 0.0000 8.34 0.00% 11 Aviall

AN173- Screw, supercedes 0.0000 3.96 0.00% 1 Bin #4 Dassault Falcon

21ATHR20 MY20721-10801

AN23-20A Clevis bolt 0.0000 2.94 0.00% 4  Bin#4 Aviall

AN24-32 Bolt 0.0000 9.38 0.00% 1 Bin #4 DK Turbines

AN3-13A Hex Airframe Bolt 0.0000 0.34 0.00% 2 Bin #4

AN3-16 Bolt 0.0000 1.18 0.00% 8 Bin #4 Oklahoma Regional
Jet Center

AN3-16A Hex Aircraft Bolt 0.0000 0.34 0.00% 4  Bin#

AN3-36 BOLT 0.0000 27.41 0.00% 6 Bin #4 Oklahoma Regional
Jet Center

AN3-4A Bolt, machine 0.0000 0.26 0.00% 35 Bin#4 East Coast Aviation
Supplies

AN3-5A Bolt 0.0000 0.30 0.00% 47 Bin#4 East Coast Aviation
Supplies

AN310-3 NUT 0.0000 1.20 0.00% 22 Bin#4 Aircraft Specialties
Services, Inc.

AN320C4 Nut 0.0000 1.70 0.00% 85 Bin#4 Oklahoma Regional
Jet Center

AN3C16A Bolt 0.0000 2.80 0.00% 2 Bin #4

AN3C5A Bolt 0.0000 1.05 0.00% 9 Bin #4 Aviall

AN4-24 BOLT 0.0000 1.46 0.00% 39 Bin#4 Oklahoma Regional
Jet Center

AN4-34 BOLT 0.0000 3.42 0.00% 4  Bin# Aviall

AN4-7A Bolt 0.0000 0.62 0.00% 50 Aviall

ANS500A6-22 Screw 0.0000 10.35 0.00% 10 Bombardier
Aerospace

AN503-10-10 Screw 0.0000 5.76 0.00% 3 Bin #4

AN503-8-4 Screw 0.0000 0.66 0.00% 6 Bin #4 Hawker Beechcraft

AN507-10R12 SCREW 0.0000 0.12 0.00% 86 Bin#4

AN507-6R10 SCREW 0.0000 0.10 0.00% 85  Screw Bin

AN507-6R12 SCREW 0.0000 0.12 0.00% 89  Screw Bin

AN507-6R8 Screw 0.0000 0.18 0.00% 57  Screw Bin Falcon Crest
Aviation

26 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
AN507-8R10 SCREW 0.0000 0.12 0.00% 85 Bin#4
AN507-8R16 Screw, MS24693S54 0.0000 0.12 0.00% 84 Bin#4
AN507C-8-R8 Screw 0.0000 0.28 0.00% 7 Screw Bin Falcon Crest
Aviation
AN525-10R12 Screw 0.0000 0.24 0.00% 27 Bin#4 Western Aircraft
Parts
AN526C-632R4  Truss screw 0.0000 0.08 0.00% 156 Bin#4 Aircraft Spruce &
Specialty Co.
AN526C-832R6  SS Machine screw 0.0000 0.14 0.00% 25 Bin#4 Aircraft Spruce &
Specialty Co.
AN526C832R8 Screw, truss hd, 0.0000 0.10 0.00% 151 Screw Bin Aviall
stainless steel
AN565A632H5 Setscrew 0.0000 9.90 0.00% 1 Bin #4 Bombardier
Aerospace
AN6232C12 Felt 0.0000 15.00 0.00% 2 Bin #4 Preferred Airparts
AN6235-4A Element 0.0000 7.68 0.00% 2 Aviall
AN6289-4 Nut 0.0000 1.50 0.00% 2 Bin #4
AN6289J6 NUT 0.0000 4.50 0.00% 1 Bin #4 GE Structured
Services
AN735D18 CLAMP 0.0000 3.76 0.00% 5 GE Structured
Services
AN815-4D Union, aluminum 0.0000 3.12 0.00% 5 Bin #4 Aircraft Spruce &
Specialty
AN815-4] Union 0.0000 9.60 0.00% 1 Bin #4 East Coast Aviation
Supplies
AN815-6C UNION 0.0000 17.25 0.00% 2 Bin #4 Aircraft & Turbine
Support
AN815-6D Union 0.0000 3.31 0.00% 2 Bin #4 Aircraft Spruce &
Specialty
AN816-4-4D Fitting 0.0000 3.24 0.00% 2 Bin #4 Aircraft Spruce &
Specialty
AN816-6D Nipple 0.0000 3.62 0.00% 2 Bin #4 Aircraft Spruce &
Specialty
AN818-4D Fitting 0.0000 1.36 0.00% 1 Bin#4 Aircraft Specialties
Services
AN818-4J B-Nut 0.0000 3.75 0.00% 2 Bin #4 East Coast Aviation
Supplies
AN825-4D Fitting 0.0000 9.32 0.00% 1 Bin #4 Aircraft Spruce &
Specialty
AN825-6D Fitting 0.0000 9.90 0.00% 1 Bin #4 Aircraft Spruce &
Specialty
AN901-4A GASKET 0.0000 0.08 0.00% 8 Bin #4 Oklahoma Regional
Jet Center
AN912-1D Reducer 0.0000 3.01 0.00% 2 Bin #4 Aircraft Spruce &
Specialty
AN919-12 Union, reducer 0.0000 18.75 0.00% 3 Bin #4 Dodson
International
27 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
AN924-4 Nut, steel 0.0000 3.00 0.00% 1 Bin #4 Duncan Aviation
AN924-4D Nut, fitting 0.0000 1.80 0.00% 4  Bin#4 Aircraft Specialties
Services
AN924-5D NUT 0.0000 1.20 0.00% 2 Bin #4 Aircraft & Turbine
Support
AN936-A416 Internal Lockwasher 0.0000 0.04 0.00% 99 Screw Bin
AN936-A516 Internal Lockwasher 0.0000 0.05 0.00% 98  Screw Bin
AN936A10 Internal lockwasher 0.0000 0.04 0.00% 124 Screw Bin
AN960-10 Washer 0.0000 0.07 0.00% 76  Screw Bin East Coast Aviation
Supplies
AN960-10L Washer 0.0000 0.04 0.00% 42  Screw Bin Aircraft Spruce &
Specialty
AN960-416 Washer 0.0000 0.04 0.00% 29  Screw Bin Aircraft Spruce &
Specialty
AN960-6L Washer 0.0000 0.04 0.00% 25 Screw Bin Aircraft Spruce &
Specialty
AN960-8L Washer 0.0000 0.04 0.00% 33  Screw Bin Aircraft Spruce &
Specialty
AN960B716 WASHER 0.0000 0.34 0.00% 31 Bin#5 Oklahoma Regional
Jet Center
AN960C10L WASHER, FLAT 0.0000 0.05 0.00% 24 Bin#5 Aircraft & Turbine
Support
AN960C416L WASHER, FLAT 0.0000 0.09 0.00% 4  Screw Bin Aircraft & Turbine
Support
AN960CA4L WASHER 0.0000 0.06 0.00% 100 Screw Bin East Coast Aviation
Supplies Inc.
AN960C6 WASHER 0.0000 0.06 0.00% 17 Bin#5 Oklahoma Regional
Jet Center
AN960C716 Washer, flat 0.0000 0.42 0.00% 4  Bin#5
AN960KD416 WASHER 0.0000 0.12 0.00% 4  Bin#5 Oklahoma Regional
Jet Center
AN960PD-10 Washer 0.0000 0.08 0.00% 19  Screw Bin Aircraft Spruce &
Specialty
AN960PD-416L  Washer 0.0000 0.05 0.00% 142 Screw Bin Aircraft Spruce &
Specialty
AN960PD-516 Washer 0.0000 0.14 0.00% 40  Screw Bin Aircraft Spruce &
Specialty
AN960PD-616 Washer 0.0000 0.14 0.00% 46  Screw Bin Aircraft Spruce &
Specialty
AN960PD-716 Washer 0.0000 0.20 0.00% 13  Screw Bin Aircraft Spruce &
Specialty
AN960PD-816 Washer 0.0000 0.24 0.00% 8 Screw Bin Aircraft Spruce &
Specialty
AN960PD-916 Washer 0.0000 0.22 0.00% 10  Screw Bin Aircraft Spruce &
Specialty
AN960XC10L WASHER 0.0000 0.04 0.00% 44  Bin #5 Oklahoma Regional
Jet Center
28 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

AN960XC416L WASHER 0.0000 0.16 0.00% 42  Bin#5 Oklahoma Regional
Jet Center

AN960XC6 WASHER 0.0000 0.28 0.00% 47 Bin #5 Oklahoma Regional
Jet Center

AN970-3 Washer 0.0000 0.12 0.00% 50 Screw Bin

AN970-4 Washer 0.0000 0.14 0.00% 50 Screw Bin

ANL150 Fuse 0.0000 25.05 0.00% 1 Bin#5 Aircraft & Turbine
Support

ANL500 Fuse 0.0000 27.38 0.00% 1 Bin#5 All West Aviation

AP327175 Terminal, 0.0000 8.36 0.00% 19 Hi-Line

MS20659-145/327175 R
41/2"

AP6080361 Fusion Tape 0.0000 2.08 0.00% 60  Shelf Hi-Line

AS1097-04 Ring seal 0.0000 8.55 0.00% 2  Bin#5 Aircraft & Turbine
Support

AS1097-06 Seal ring 0.0000 10.35 0.00% 6  Bin#5 Aircraft & Turbine
Support

AS1097-08 Seal ring 0.0000 12.15 0.00% 2 Bin #5 Aircraft & Turbine
Support

AS21919WDG14 Clamp 0.0000 2.95 0.00% 5 Bin#5 Aviall

AS3208-04 O-Ring 0.0000 0.30 0.00% 52

AS3208-05 Packing 0.0000 2.88 0.00% 2 Hawker Beechcraft
Corp.

AS3209-012 O-Ring 0.0000 0.30 0.00% 90

AS3209-013 Packing 0.0000 1.22 0.00% 2 Hawker Beechcraft
Corp.

AS3209-019 O-Ring 0.0000 0.30 0.00% 37

AS3209-113 Packing 0.0000 2.02 0.00% 32 Hawker Beechcraft
Corp.

AS3209-115 O-Ring 0.0000 0.30 0.00% 22

AS3209-120 O-Ring 0.0000 0.30 0.00% 14

AS3209-136 Packing 0.0000 5.25 0.00% 2 Hawker Beechcraft
Corp.

AS3209-146 Packing 0.0000 7.53 0.00% 2 Hawker Beechcraft
Corp.

AS3209-147 O-ring 0.0000 6.47 0.00% 4 Hawker Beechcraft
Corp.

AS3209-214 Packing 0.0000 3.99 0.00% 6 Hawker Beechcraft
Corp.

AS3492-01 Gasket 0.0000 4.46 0.00% 9 Channellock

AS3493-01 Gasket 0.0000 9.05 0.00% 8 Channellock

AS3510-0218K Cable, Safety 0.0000 0.00 0.00% 2  Bin#5

AS3578-013 PACKING 0.0000 0.80 0.00% 9 Aviall

29 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
AS3578-016 PACKING 0.0000 0.68 0.00% 1
AS3578-017 PACKING 0.0000 0.68 0.00% 8 Aviall
AS3578-268 Packing 0.0000 11.40 0.00% 2 Aviall
AS3578-903 PACKING 0.0000 0.47 0.00% 8 Aviall
AS3582-010 Packing 0.0000 0.48 0.00% 6 Bin #5 Aviall
AS3582-023 PACKING 0.0000 0.87 0.00% 5 Aviall
AS3582-024 PACKING 0.0000 1.33 0.00% 5 Aviall
AS3582-026 Packing 0.0000 1.00 0.00% 5 Aviall
AS3582-114 PACKING 0.0000 0.74 0.00% 4 Channellock
AS3582-140 PACKING 0.0000 2.20 0.00% 5 Aviall
AS4987-NP3 Washer (alt for 0.0000 1.00 0.00% 1 Bin #5
VN936NP3)
AS5406D06 Union 0.0000 7.70 0.00% 1 Bin#5 Aviall
AV25B1119B Ball Valve Assembly 0.0000 0.00 0.00% 1  Shelf
B0209020-001 Ring, retaining, wire 0.0000 15.00 0.00% 1 Bin #5 Bombardier
form Aerospace
B0209021-2S Stud assembly 0.0000 29.70 0.00% 1 Bin #5 Bombardier
Aerospace
B0301012-04 Tee Fitting 0.0000 0.00 0.00% 2 Bin #5 Bombardier
Aerospace
B0302126-04 Fitting 0.0000 0.00 0.00% 2 Bin #5 Bombardier
Aerospace
B07-235A1KA Filter, regulator 0.0000 112.44 0.00% 1 Shelf Standard
Aero-Tempe
B2-4 Gasket 0.0000 4.05 0.00% 1 Bin #5 Bombardier
Aerospace
BAEREF0000056 TKS Tape 0.0000 1.12 0.00% 80 Bin#5 Select Air Parts
16
BAS245-250-2 Hi-Torque Clamp 0.0000 17.88 0.00% 1 Hawker Beechcraft
Corp.
BIOBORQT Fuel Additive, Biobar JF 0.0000 42.53 0.00% 1 Shelf Business Aircraft
Consumables
BNC16467B Seal 0.0000 39.89 0.00% 1 Bin #5 Select Air Parts
BSA6PC851A Seal 0.0000 3.90 0.00% 2 Bin#5 Western Aircraft
Parts
BT21-3 Packing 0.0000 58.00 0.00% 1 Bin #5 Preferred Airparts
BT337-1 Main wheel packing 0.0000 103.64 0.00% 1 Dassault Falcon
BT6-2 Packing 0.0000 44.28 0.00% 1 Bin #5 Dassault Falcon
C14707-351 Recepticle 0.0000 47.25 0.00% 1 Bin#5 CRS Jet Spares
CA1825 Ring, retaining 0.0000 13.35 0.00% 1 Bin #5 Bombardier
Aerospace
30 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

CA1826-1 Retaining ring 0.0000 23.85 0.00% 1 Bin #5 Bombardier
Aerospace

CA1832-1 Nut, stud live lock 0.0000 31.59 0.00% 1 Bin #5 Bombardier
Aerospace

CB068-1124-10  SEAL, Plain, encased 0.0000 67.50 0.00% 1 DK Turbines

CBP Lens cover, Clear 0.0000 8.73 0.00% 3 Standard
Aero-Tempe

CCR264SS3-04  Rivet, Cherry 0.0000 0.24 0.00% 83  Shelf Aviall

CCR264SS4-5 RIVET 0.0000 0.56 0.00% 66  Shelf

CEETS4-26-6 T-2 HOSE 0.0000 33.75 0.00% 1 Intercontinental Jet
Corp,

CM3112 Bulb 0.0000 1.64 0.00% 8 Aviall

CM6839 Lamp 0.0000 1.39 0.00% 14 Aviall

CM8GH005448- Lamp 0.0000 6.97 0.00% 2 Bin #5

28

CMA7079B24 Lamp, 28-V 0.0000 11.68 0.00% 1 Aviall

CN6- Bearing rod end 0.0000 134.23 0.00% 1 Bin #5 Hawker Beechcraft

35MESP56G Corp.

CR3212-4-02 Rivet Cherry Max 0.0000 1.00 0.00% 151 Aviall

CR3212-4-4 Rivet 0.0000 0.94 0.00% 8 Intercontinental Jet
Corp.

CR3212-4-5 Cherrymax Rivet 0.0000 0.92 0.00% 96 East Coast Aviation
Supplies, Inc.

CR3212-5-2 Rivet-blind counter sunk 0.0000 1.90 0.00% 107  Shelf Hawker Beechcraft
Corp.

CR3213-4-02 Rivet, Cherry Max 0.0000 0.63 0.00% 41  Shelf Aviall

CR3213-4-3 Rivet, Cherrymax 0.0000 1.16 0.00% 4 Shelf Hawker Beechcraft
Corp.

CR3213-5-2 Cherry max rivet 0.0000 1.09 0.00% 7 Shelf Aircraft Spruce &
Specialty Co.

CR3213-5-3 Cherry-max Rivet 0.0000 1.18 0.00% 9 Shelf Aircraft Spruce &
Specialty Co.

CR3213-5-4 Cherry-max Rivet 0.0000 1.60 0.00% 7 Shelf Aircraft Spruce &
Specialty Co.

CR3214-4-02 Rivet 0.0000 3.14 0.00% 2 Shelf Cessna Aircraft
Company

CR3214-4-03 Rivet 0.0000 3.14 0.00% 24  Shelf Cessna Aircraft
Company

CR3242-4-1 Rivet, Cherry-max 0.0000 1.56 0.00% 44 Shelf Hawker Beechcraft
Corp.

CR3242-4-2 Rivet 0.0000 0.87 0.00% 16 Intercontinental Jet
Corp.

CR3242-4-3 Rivet 0.0000 0.94 0.00% 17 Intercontinental Jet
Corp.

31 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

CR3242-4-4 Rivet 0.0000 1.09 0.00% 7 Intercontinental Jet
Corp.

CR3242-4-5 Rivet, Cherry-max 0.0000 2.20 0.00% 1  Shelf Bombardier
Aerospace

CR3522-4-2 Rivet 0.0000 3.26 0.00% 20 Intercontinental Jet
Corp.

CR3522-5-03 Rivet 0.0000 7.55 0.00% 25  Shelf Cessna Aircraft
Company

CR3522-5-2 Rivet 0.0000 3.70 0.00% 20 Intercontinental Jet
Corp.

CR3523-4-3 Rivet, Cherry 0.0000 3.60 0.00% 11 Shelf Standard
Aero-Tempe

CR3523-5-3 Rivet, Cherry 0.0000 3.60 0.00% 10  Shelf Standard
Aero-Tempe

CR3524-4-2 Rivet 0.0000 3.63 0.00% 20 Intercontinental Jet
Corp.

CR3552-4-03 Rivet, Cherry-max, 0.0000 3.63 0.00% 3 Shelf Aviall

CR3552-4-3

CR3552-4-2 Rivet 0.0000 3.77 0.00% 7 Intercontinental Jet
Corp.

CR3553-4-3 Rivet, Cherry 0.0000 3.80 0.00% 11  Shelf Standard
Aero-Tempe

CR3553-5-3 Rivet, Cherry 0.0000 3.60 0.00% 12 Shelf Standard
Aero-Tempe

CR4163 Nut Plate 0.0000 12.56 0.00% 2 Bin #5 Dassault Falcon

CS3106A12S- Connector 0.0000 26.00 0.00% 1 DK Turbines

51P

D.250-.125S-40  Filter Disc 0.0000 0.00 0.00% 1 Bin #5

D10036-04 Splice 0.0000 38.80 0.00% 8 Bin #5 Bombardier
Aerospace

D6-1HP Washer, wavy 0.0000 1.00 0.00% 13 Bin#5

D7271-8-15 Circuit Breaker 0.0000 67.50 0.00% 1 Dodson
International

DA27 Bulb 0.0000 0.00 0.00% 1 Bin #5

DAS2112-2 Ring 0.0000 10.34 0.00% 4  Bin#5 Hawker Beechcraft
Corp.

DAS2119-4 Packing 0.0000 4.28 0.00% 20 Western Aircraft
Parts

DAS2119-5 O-Ring 0.0000 7.50 0.00% 4 DAS International
Jet Spares

DAS2119-6 Seal 0.0000 34.32 0.00% 4 Western Aircraft
Parts

DAS2124-43 Seal 0.0000 85.30 0.00% 1 Hawker Beechcraft
Corp.

DAS2138-4 Seal 0.0000 10.26 0.00% 4 Bin #5 Hawker Beechcraft
Corp.

DAS2155-2 O-Ring 0.0000 3.38 0.00% 4 Bin #5 All West Aviation

32 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

DAS4-14A Bearing 0.0000 183.60 0.00% 1 Bin #5 Bombardier
Aerospace

DC-4 Dielectric grease, 5 oz. 0.0000 22.43 0.00% 2 Business Aircraft
Consumables

DHS1171-1J0-25 Bushing 0.0000 89.13 0.00% 2 Bin #5

DHS1171-1N0-25 Bushing 0.0000 46.72 0.00% 2 Bin #5

DHS1293-6-90 Pin, 3/16 inch diameter 0.0000 25.50 0.00% 12 Bin#5 All West Aviation

DHS1421-1-1-2E  Bolt 0.0000 29.18 0.00% 5 Bin #6 Hawker Beechcraft
Corp.

DHS1421-1- Bolt 0.0000 5.42 0.00% 89 Bin #6 Hawker Beechcraft

1/2DD Corp.

DHS1421-1D Bolt 0.0000 5.37 0.00% 1 Bin #6

DHS1421-1DD Bolt 0.0000 5.81 0.00% 7 Bin #6 All West Aviation

DHS1421-2- Bolt 0.0000 4.39 0.00% 166 Bin #6

1/2DD

DHS1421-3-1-2E  Bolt 0.0000 15.48 0.00% 20 Bin#6 Hawker Beechcraft
Corp.

DHS1432-4-1-2E  Bolt 0.0000 21.26 0.00% 13 Bin#6

DHS1468-6D Bolt 0.0000 3.39 0.00% 20 Bin#6

DHS1472-1DD Bolt 0.0000 16.42 0.00% 2 Bin #6

DHS1473-1-1-2E  Bolt 0.0000 38.97 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

DHS1473-2EE Bolt 0.0000 8.63 0.00% 1 Bin #6 APPH Houston

DHS1475-1-1/2D Screw 0.0000 5.86 0.00% 17 Bin#6 Hawker Beechcraft
Corp.

DHS1475-15E Bolt 0.0000 22.47 0.00% 2 Bin #6

DHS1475-2D Screw, Special 120 0.0000 5.76 0.00% 7 Bin #6 Standard

degree csk Aero-Tempe

DHS1475-3DD Bolt 0.0000 6.27 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

DHS1475-4E Bolt 0.0000 23.19 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

DHS1475-5E Bolt 0.0000 23.35 0.00% 2 Bin #6

DHS1650A Seal, Ring 0.0000 57.16 0.00% 1 Hawker Beechcraft
Corp.

DHS1650B O-Ring 0.0000 20.42 0.00% 2 All West Aviation

DHS1650C O-ring 0.0000 57.35 0.00% 5 Hawker Beechcraft
Corp.

DHS1650D Seal 0.0000 55.80 0.00% 2 Hawker Beechcraft
Corp.

DHS1655-13 "O" SEAL 0.0000 25.00 0.00% 1 Bin #6

DHS1683HS125 Data plate 0.0000 6.15 0.00% 1 Bin #6

33 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

DN8V Seal 0.0000 7.50 0.00% 2 March Aviation

DSR4647/1001 BOLT 0.0000 1.00 0.00% 2 Bin #6 Oklahoma Regional
Jet Center

DSR633/3 Maxaret SE 0.0000 26.70 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

E1250-003 Capacitor, 1500PF 0.0000 17.25 0.00% 4 Bin #6 Global Parts, Inc.

EC1085-020- Washer, countersunk, 0.0000 0.13 0.00% 54  Screw Bin East Coast Aviation

10SS tinnerman Supplies

EWBO0420-3-6 Bolt 0.0000 2.00 0.00% 14 Bin#6

EWB0420-3-8 Bolt 0.0000 2.00 0.00% 10 Bin#6

F10A729000101A Gasket 0.0000 0.00 0.00% 2 Bin #6 Aircraft & Turbine

1 Support

F1968-4 Nutplate 0.0000 12.98 0.00% 3 Bin #6 APPH Houston

F50B132028004B Lock tab 0.0000 28.74 0.00% 2 Bin #6 Aircraft & Turbine

2 Support

F50B311000302A Screws, panel 0.0000 47.32 0.00% 2 Standard

1 Aero-Tempe

F50B738300068D Seal 0.0000 22.30 0.00% 1 Bin #6 Dassault Falcon

1

F5231-3 NUT PLATE tail cone 0.0000 10.50 0.00% 23 GE Structured
Services

FAL1365387 Diode 0.0000 229.50 0.00% 3 Bin #6 Standard
Aero-Tempe

FHS1811-24 Seal 0.0000 7.83 0.00% 2 Bin #6 All West Aviation

FN1216-1032 Nut 0.0000 4.05 0.00% 9 Bin #6 Bombardier
Aerospace

GA31749 Plug, Fusible 0.0000 40.00 0.00% 3 Bin#6 Avparts Inc.

GAP11K1 Plug 0.0000 10.13 0.00% 1 Bin#6 Bizjet International

GB-P Lens cover, greem 0.0000 6.27 0.00% 2 Standard
Aero-Tempe

GE327 Bulb 0.0000 0.52 0.00% 6

GG510AF1 Gasket 0.0000 20.00 0.00% 2 Bin #6

H10-3 Nut 0.0000 3.04 0.00% 1 Bin #6 Hawker Beechcraft
Corp.

H51132-3K7 Stiffnut 0.0000 0.48 0.00% 12 Bin#6

HDS1171-5-12 Seal 0.0000 29.98 0.00% 2 Bin #6 All West Aviation

HL18PB6-14 Pin, HI-LOK 0.0000 2.40 0.00% 2 Bin #6 Bombardier
Aerospace

HL41-6-14 Pin 0.0000 3.80 0.00% 3 Bin #6 Bombardier
Aerospace

HL51-6-13 Pin 0.0000 4.00 0.00% 49 Bin #6 Nell-Joy Industries

HL79-8 Collar, Hi-Lok 0.0000 2.88 0.00% 4  Bin#6 Intercontinental Jet
Corp.

34 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

HL86-6 Collar, Hi-Lok 0.0000 3.75 0.00% 1 Bin #6 Intercontinental Jet
Corp.

HL90-6A Collar 0.0000 1.00 0.00% 9 Bin #6 Aviation Logistics
Corp.

HSI-25S Smoke Check 0.0000 12.65 0.00% 1 Security General
International

HUMBUGKIT Microbial Growth 0.0000 35.10 0.00% 1 Shelf Business Aircraft

Detector Consumables

J212P133A SEAL RING 0.0000 47.25 0.00% 3 DK Turbines

J224P008 PACKING 0.0000 7.20 0.00% 2 GE Structured
Services

J224P010 PACKING 0.0000 19.13 0.00% 8 DK Turbines

J224P013 PACKING 0.0000 4.95 0.00% 3 DK Turbines

J224P014 ORing 0.0000 11.97 0.00% 10 GE Structured
Services

J224P157 PACKING 0.0000 54.00 0.00% 5 Bizjet International

J224P162 PACKING - O'RING 0.0000 26.25 0.00% 2 DK Turbines

J228P006 PACKING 0.0000 16.20 0.00% 3 K.A.L. Aviation Inc.

J228P008 PACKING 0.0000 15.30 0.00% 1 GE Structured
Services

J228P016 PACKING 0.0000 11.70 0.00% 3 GE Structured
Services

J228P111 PACKING 0.0000 16.58 0.00% 7 GE Structured
Services

J2930X3METRES Seal 0.0000 3.36 0.00% 127 Bin #6

J333P08A BOLT 0.0000 11.25 0.00% 25 GE Structured
Services

J641P0O5F BOLT 0.0000 18.00 0.00% 11 GE Structured
Services

JE247 Seal 0.0000 21.75 0.00% 2 Bin #6 Bizjet International

K1000070214-3  Angle, Z Stop 0.0000 0.00 0.00% 1 Bin #6 Bombardier
Aerospace

K19887-31-08 NUT, SHANK 0.0000 37.33 0.00% 7 Aircraft Fasteners

K3215 Brush 0.0000 11.16 0.00% 2 Bin #6 Yingling Aviation

KRP170405VT Cam, follower 0.0000 0.00 0.00% 2 Bin #6

KRP170604VT Follower, cam 0.0000 0.00 0.00% 3 Bin #6

L1330 Filament 0.0000 1.42 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

L305610 Cup 0.0000 117.05 0.00% 2 Bin #6 Dassault Falcon

LD4QT Skydrol, QT. 0.0000 34.00 0.00% 15 Trinity Aviation,
LLC

LM308-21 Mount, Engine top 1/2 0.0000 1,051.65 0.00% 1 Bombardier

upper Aerospace
35 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
LM308-22 lower engine mount disc 0.0000 1,186.90 0.00% 2 Aronson Aircraft &
Marine
LN6799-19A E-CLIP 0.0000 1.00 0.00% 19 Bin#6 Oklahoma Regional
Jet Center
LN9439AM4X16 SCREW 0.0000 1.00 0.00% 23 Bin#6 Oklahoma Regional
Jet Center
M10 Tool, valve 0.0000 0.00 0.00% 1 Bombardier
Aerospace
M2014035-020 Placard (CURTAIN TO 0.0000 187.25 0.00% 1 Bin #6 Bombardier
BE STOWED FOR Aerospace
TAXI, TAKE-OFF AND
LANDING)
M25988-1-010 Packing 0.0000 0.87 0.00% 4 Aviall
M25988-1-015 Packing, preformed 0.0000 1.27 0.00% 4 Aviall
M25988-1-018 Packing, preformed 0.0000 1.54 0.00% 4 Aviall
M25988-1-021 Packing 0.0000 1.87 0.00% 1 Aircraft & Turbine
Support
M25988-1-134 Packing 0.0000 4.31 0.00% 7 Standard
Aero-Tempe
M25988-1-238 Packing 0.0000 6.11 0.00% 2 Bin #6 Seal Co
Enterprises
M25988-1-910 O-RING 0.0000 2.02 0.00% 13 Seal Co
Enterprises
M25988-2-015 Packing, preformed 0.0000 1.80 0.00% 5 Aviall
M25988-2-028 Packing, preformed 0.0000 3.25 0.00% 10 Aviall
M25988-2-032 Packing 0.0000 4.01 0.00% 4 Aviall
M25988/2-138 Packing, o-ring 0.0000 7.87 0.00% 1 Bin #6
M27500- Wire 0.0000 1.02 0.00% 14 Sea Wire and
20TE2T14 Cable
M39029-31-240  Contact, electrical 0.0000 0.68 0.00% 10 Bin#6 Hawker Beechcraft
connector Corp.
M39029/22-191  Pin 0.0000 2.00 0.00% 12 Bin#6 Bombardier
Aerospace
M81714/12-20D-2 Junction block terminal 0.0000 28.00 0.00% 1 Bin #6 Bombardier
Aerospace
M83248-1-008 Packing 0.0000 0.47 0.00% 20 Hawker Beechcraft
Corp.
M83248-1-009 Packing 0.0000 0.47 0.00% 2 Aviall
M83248-1-011 PACKING 0.0000 0.53 0.00% 2 Aviall
M83248-1-013 Packing 0.0000 0.53 0.00% 22 Aviall
M83248-1-015 Packing 0.0000 0.67 0.00% 23 Aviall
M83248-1-016 Packing 0.0000 0.68 0.00% 24 Aviall
M83248-1-018 PACKING 0.0000 0.67 0.00% 55 Aviall
36 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
M83248-1-019 Packing 0.0000 0.73 0.00% 2
M83248-1-020 Packing 0.0000 0.74 0.00% 24 Aviall
M83248-1-022 PACKING 0.0000 0.60 0.00% 31 Aviall
M83248-1-025 Packing 0.0000 0.93 0.00% 9 Aviall
M83248-1-026 Packing 0.0000 1.18 0.00% 2 Aviall
M83248-1-028 O-RING 0.0000 1.06 0.00% 16 Aviall
M83248-1-036 Packing 0.0000 2.07 0.00% 19 Aviall
M83248-1-037 packing 0.0000 2.14 0.00% 4
M83248-1-110 Packing 0.0000 0.73 0.00% 21 Aviall
M83248-1-111 Packing, preformed 0.0000 0.74 0.00% 7 Aviall
M83248-1-112 PACKING 0.0000 0.54 0.00% 84 Aviall
M83248-1-114 Packing 0.0000 0.88 0.00% 21 Aviall
M83248-1-116 Packing 0.0000 0.93 0.00% 48 Aviall
M83248-1-117 Packing 0.0000 0.93 0.00% 27 Hawker Beechcraft

Corp.
M83248-1-118 Packing 0.0000 0.93 0.00% 23 Aviall
M83248-1-120 Packing 0.0000 1.08 0.00% 34 Aviall
M83248-1-121 Packing 0.0000 1.07 0.00% 1 Aviall
M83248-1-122 Packing 0.0000 1.07 0.00% 20 Aviall
M83248-1-123 Packing 0.0000 1.20 0.00% 4 Aviall
M83248-1-124 Packing 0.0000 2.20 0.00% 2
M83248-1-125 Packing 0.0000 2.20 0.00% 2 Bombardier

Aerospace
M83248-1-133 Packing 0.0000 3.30 0.00% 5 Aviall
M83248-1-148 Packing 0.0000 3.00 0.00% 3 Aviall
M83248-1-151 Packing 0.0000 3.67 0.00% 12 Aviall
M83248-1-163 Packing 0.0000 5.60 0.00% 1 Aviall
M83248-1-213 Packing 0.0000 1.73 0.00% 5 Aviall
M83248-1-214 Packing 0.0000 1.80 0.00% 3 Aviall
M83248-1-218 Packing 0.0000 2.20 0.00% 15 Aviall
M83248-1-236 Packing 0.0000 3.80 0.00% 10 Aviall
M83248-1-241 O-ring 0.0000 4.50 0.00% 4 Aviall
M83248-1-243 Packing 0.0000 4.85 0.00% 8 Aviall
M83248-1-264 Packing 0.0000 9.05 0.00% 1 Aviall
M83248-1-265 Packing 0.0000 9.20 0.00% 2 Aviall

37 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

M83248-1-903 O-RING 0.0000 0.54 0.00% 19 Aviall

M83248-1-905 Packing 0.0000 0.60 0.00% 4 Hawker Beechcraft
Corp.

M83248-1-906 Packing 0.0000 0.67 0.00% 26 Hawker Beechcraft
Corp.

M83248-1-907 Packing 0.0000 0.67 0.00% 2 Aviall

M83248-1-908 Packing 0.0000 0.74 0.00% 11

M83248-1-912 Packing 0.0000 0.89 0.00% 1 Aircraft & Turbine
Support

M83248-1-918 Packing 0.0000 1.80 0.00% 5 Aviall

M83248-2-020 O-Ring 0.0000 1.10 0.00% 4

M83248/1-124 Packing / M83248-1-124 0.0000 3.26 0.00% 2 Hawker Beechcraft
Corp.

M83248/1-212 O-Ring, rubber, high 0.0000 3.88 0.00% 5 Hawker Beechcraft

temperature Corp.
M83248/1-222 O-Ring, Rubber, High 0.0000 1.88 0.00% 8 Hawker Beechcraft
Temperature Corp.

M83461-1-026 Packing 0.0000 0.46 0.00% 3  Bin#6

M83461-1-120 Seal 0.0000 63.05 0.00% 2 Bin#6 Bombardier
Aerospace

M83461-1-261 Packing 0.0000 7.10 0.00% 2  Bin#6 Aviall

M83461/1-010 Seal 0.0000 0.45 0.00% 5 Bin#6 Dassault Falcon

M83461/1-020 O-Ring 0.0000 4.22 0.00% 2 Bin #6 Hawker Beechcraft
Corp.

M83461/1-129 Packing 0.0000 4.30 0.00% 2  Bin#6 Bombardier
Aerospace

M83461/1-219 O-ring 0.0000 5.85 0.00% 6 Bin #6 Hawker Beechcraft
Corp.

M83461/1-226 O-Ring, preformed 0.0000 1.26 0.00% 2 Hawker Beechcraft
Corp.

M83461/1-378 Seal 0.0000 12.64 0.00% 5 Hawker Beechcraft
Corp.

M83461/2-908 O-ring 0.0000 0.00 0.00% 2  Bin#6

M83485-1-116 Packing 0.0000 1.68 0.00% 2  Bin#6

M83485-1-128 Packing 0.0000 0.00 0.00% 2 Bin#6

M83485-1-146 O-Ring 0.0000 32.67 0.00% 2 Bombardier
Aerospace

M85052/3-4 Clamp, adel 0.0000 0.00 0.00% 2  Bin#7

M85052/3-8 Clamp, adel 0.0000 0.00 0.00% 1 Bin#7

M8791/1-129 Backup Ring 0.0000 6.60 0.00% 2 Bin #7 Bombardier
Aerospace

METHANOL1GL Methanol 0.0000 20.63 0.00% 1 Aviall

38 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MOBIL254QT QOil 0.0000 22.95 0.00% 4  Bottom shelf Tulco Oils
MOBILJETIIQT MOBIL JET Il OIL, 24/1 0.0000 22.95 0.00% 9 Bottom shelf Tulco Oils
Model 811B Chronometer/with 0.0000 350.00 0.00% 1 Shelf Aircraft & Turbine
installation kit, dropping Support
resistor
MS141441.3 Nut 0.0000 4.35 0.00% 4  Bin#7 Bombardier
Aerospace
MS14145L4 Nut, self-locking, 0.0000 2.32 0.00% 2 Bin #7
castellated, reduced
MS14145L7 Nut, self-locking, 0.0000 10.89 0.00% 4  Bin#7
castellated, reduced
MS16624-5015 RETAINING RING 0.0000 0.74 0.00% 23  Bin#7 Oklahoma Regional
Jet Center
MS16625-1056 Clip 0.0000 1.16 0.00% 9
MS16625-56 RING, RETAINING 0.0000 1.00 0.00% 2 Bin #7 Aircraft & Turbine
Support
MS17825-3 NUT 0.0000 2.42 0.00% 8 Bin #7 Oklahoma Regional
Jet Center
MS17825-4 NUT 0.0000 2.58 0.00% 39 Bin#7 Oklahoma Regional
Jet Center
MS17825-5 NUT 0.0000 2.98 0.00% 16 Bin#7 Oklahoma Regional
Jet Center
MS17825-6 NUT 0.0000 2.62 0.00% 14 Bin#7 Oklahoma Regional
Jet Center
MS20002C4 WASHER 0.0000 1.96 0.00% 81 Bin#7 Oklahoma Regional
Jet Center
MS20002C5 WASHER 0.0000 0.66 0.00% 37 Bin#7 Oklahoma Regional
Jet Center
MS20033-2 Bolt 0.0000 8.85 0.00% 25 Bin#7 Bombardier
Aerospace
MS20073-03-04  Bolt 0.0000 1.60 0.00% 2 Bin #7 Hawker Beechcraft
Corp.
MS20074-05-14  Bolt 0.0000 16.07 0.00% 4  Bin#7 Aviall
MS20392-1C15  Clevis pin 0.0000 1.29 0.00% 4  Bin#7 Aviall
MS20500-428 Nut, self-locking 0.0000 3.96 0.00% 6 Bin #7 Aviall
MS20659-133 Terminal 0.0000 13.50 0.00% 14 Bin#7 AEK Technology
Inc.
MS20819-4J Sleeve 0.0000 2.25 0.00% 2 Bin #7 East Coast Aviation
Supplies
MS21042-02 NUT 0.0000 1.16 0.00% 50 Bin#7 Oklahoma Regional
Jet Center
MS21042-3 Nut 0.0000 0.44 0.00% 82 Bin#7 East Coast Aviation
Supplies
MS21042-6 NUT 0.0000 5.07 0.00% 91 GE Structured
Services
39 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS21043-04 NUT 0.0000 1.12 0.00% 28  Bin#7 Oklahoma Regional
Jet Center
MS21043-06 NUT 0.0000 1.22 0.00% 29  Bin #7 Oklahoma Regional
Jet Center
MS21043-08 NUT 0.0000 0.64 0.00% 824 Oklahoma Regional
Jet Center
MS21043-3 Nut, self-locking, heat 0.0000 0.56 0.00% 94 Gulfstream
resistant Aerospace
MS21043-4 NUT, SELF-LOCK 0.0000 2.40 0.00% 8 Bin #7 GE Structured
Services
MS21044C06 NUT 0.0000 0.32 0.00% 83 Bin#7 Oklahoma Regional
Jet Center
MS21044C3 NUT 0.0000 3.60 0.00% 18 Bin#7 Oklahoma Regional
Jet Center
MS21044N3 Nut, selflock steel 0.0000 0.40 0.00% 168 Bin #7 Aviall
MS21045-3 Nut, self locking steel 0.0000 0.94 0.00% 77 Bin#7 Auviall
MS21045-6 Nut, self lock steel 0.0000 1.64 0.00% 25 Bin #7 Aviall
MS21045L6 Nut 0.0000 2.20 0.00% 6 Bin #7 Yingling Aviation
MS21059L08 NUTPLATE 0.0000 0.66 0.00% 82 Bin#7 Oklahoma Regional
Jet Center
MS21059L3 Nutplate 0.0000 2.60 0.00% 3 Bin #7 Dassault Falcon
MS21059L4 NUTPLATE 0.0000 1.10 0.00% 42  Bin #7 Oklahoma Regional
Jet Center
MS21060L08 NUTPLATE 0.0000 1.52 0.00% 19 Bin#7 Oklahoma Regional
Jet Center
MS21060L3 NUTPLATE 0.0000 1.50 0.00% 18 Bin#7 Oklahoma Regional
Jet Center
MS21061L3 NUTPLATE 0.0000 0.78 0.00% 86  Bin #7 Oklahoma Regional
Jet Center
MS21062L3 NUTPLATE 0.0000 2.26 0.00% 86 Bin#7 Oklahoma Regional
Jet Center
MS21069L3 Anchor nut plate 0.0000 2.20 0.00% 9 Bin #7 Bombardier
Aerospace
MS21070-3 Nutplate 0.0000 2.04 0.00% 43 Bin #7
MS21070L3 NUTPLATE 0.0000 0.90 0.00% 30 Bin#7 Oklahoma Regional
Jet Center
MS21073L3 NUTPLATE 0.0000 5.70 0.00% 90 Bin#7 Oklahoma Regional
Jet Center
MS21075L08N NUTPLATE 0.0000 4.59 0.00% 85 Bin#7 Oklahoma Regional
Jet Center
MS21075L3N NUTPLATE 0.0000 0.80 0.00% 77  Bin #7 Oklahoma Regional
Jet Center
MS21075L4N NUTPLATE 0.0000 0.90 0.00% 93 Bin#7 Oklahoma Regional
Jet Center
MS21083N08 Nut, Hex, Nylon insert 0.0000 0.22 0.00% 2 Bin #7 Hawker Beechcraft
Corp.
40 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS21140U0607 rivet, fastener 0.0000 1.00 0.00% 90  Shelf
MS21250-05018  Bolt, Main wheel 0.0000 11.91 0.00% 11 Aviall
MS21256-1 CLIP, LOCKING 0.0000 0.42 0.00% 60 Hawker Beechcraft
Corp.
MS21256-2 Clip 0.0000 0.85 0.00% 40 Hawker Beechcraft
Corp.
MS21260-S3LH  Cable Swage End 0.0000 6.48 0.00% 1 Bin #7 Aircraft Spruce &
Specialty Co.
MS21279-06 BOLT 0.0000 3.53 0.00% 20 Channellock
MS21299C4 Washer 0.0000 2.20 0.00% 3 Bin #7 Bombardier
Aerospace
MS21919WCH15 Clamp, adel 0.0000 0.00 0.00% 1 Bin#7
MS21919WCH5  Clamp, adel 0.0000 3.07 0.00% 1 Bin#7
MS21919WDG12 Clamp 0.0000 2.00 0.00% 2  Bin#7
MS21919WDG22 Clamp 0.0000 2.00 0.00% 2  Bin#7
MS21919WDG28 Clamp 0.0000 2.00 0.00% 2  Bin#7 Aviall
MS24391D4L PLUG, BLEEDER 0.0000 9.90 0.00% 1 Bin#7 Aircraft & Turbine
Support
MS24523-30 Switch, mom-on single 0.0000 31.73 0.00% 1 East Coast Aviation
pole Supplies
MS24585-1152 Spring 0.0000 2.00 0.00% 17 Bombardier
Aerospace
MS24665-1012 Cotter pin 0.0000 0.13 0.00% 106 Red box on shelf Aviall
MS24665-132 COTTER PIN 0.0000 0.06 0.00% 74  Red box on shelf Aviall
MS24665-134 COTTER PIN 0.0000 0.03 0.00% 2  Red box on shelf Aviall
MS24665-144 Cotter pin 0.0000 0.27 0.00% 82 Red box on shelf Aviall
MS24665-151 Cotter pin 0.0000 0.07 0.00% 49  Red box on shelf Aviall
MS24665-155 Cotter pin 0.0000 0.09 0.00% 73  Red box on shelf Aviall
MS24665-157 Cotter pin 0.0000 0.13 0.00% 94  Red box on shelf Aviall
MS24665-164 Cotter pin 0.0000 0.89 0.00% 96 Red box on shelf Aviall
MS24665-22 Cotter pin 0.0000 0.40 0.00% 208 Red box on shelf Aviall
MS24665-229 Cotter pin 0.0000 0.33 0.00% 17  Red box on shelf Aviall
MS24665-285 COTTER PIN 0.0000 0.09 0.00% 15 Red box on shelf Oklahoma Regional
Jet Center
MS24665-300 COTTER PIN 0.0000 0.09 0.00% 83 Red box on shelf Oklahoma Regional
Jet Center
MS24665-302 COTTER PIN 0.0000 0.13 0.00% 31 Red box on shelf Oklahoma Regional
Jet Center
MS24665-362 Cotter pin 0.0000 0.13 0.00% 98 Red Box on Shelf Aircraft Specialties
Services Inc.
41 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS24665-368 COTTER PIN 0.0000 0.40 0.00% 20 Red box on shelf Oklahoma Regional
Jet Center
MS24665-370 Cotter pin 0.0000 0.22 0.00% 17  Red box on shelf
MS24665-69 Cotter pin 0.0000 0.14 0.00% 62 Aviall
MS24693-B28 Screw 0.0000 2.80 0.00% 2 Bin #8 Bombardier
Aerospace
MS24693-BB34  SCREW 0.0000 1.94 0.00% 75 Bin#8 Oklahoma Regional
Jet Center
MS24693C26 Screw 0.0000 0.10 0.00% 20 Screw Bin Bombardier
Aerospace
MS24693C28 Screw, countersink, 0.0000 0.14 0.00% 179 Screw Bin Aviall
stainless steel
MS24693C280 Screw, corrosion 0.0000 0.42 0.00% 95  Screw Bin East Coast Aviation
resistant, 100 deg. flat Supplies, Inc.
head
MS24693S10 Screw 0.0000 0.08 0.00% 44  Screw Bin Aircraft Spruce &
Specialty
MS24693S274 Screw 0.0000 0.12 0.00% 92  Screw Bin Aircraft Spruce &
Specialty
MS24693S28 Screw 0.0000 0.06 0.00% 37  Screw Bin Aircraft Spruce &
Specialty
MS24693S29 Screw 0.0000 0.08 0.00% 19  Screw Bin Aircraft Spruce &
Specialty
MS24693S30 SCREW 0.0000 0.06 0.00% 39 Screw Bin Aircraft Spruce &
Specialty
MS24693S4 Screw 0.0000 0.06 0.00% 40  Screw Bin Aircraft Spruce &
Specialty
MS24693S50 Screw 0.0000 0.06 0.00% 81  Screw Bin Aircraft Spruce &
Specialty
MS24693S51 SCREW 0.0000 0.12 0.00% 90  Screw Bin Oklahoma Regional
Jet Center
MS24693S52 Screw 0.0000 0.08 0.00% 48  Screw Bin Aircraft Spruce &
Specialty
MS24693S6 Screw 0.0000 0.06 0.00% 41  Screw Bin Aircraft Spruce &
Specialty
MS24694-S6 Screw, Carbon Steel, 0.0000 0.16 0.00% 66  Screw bin East Coast Aviation
AN509-8R9 Supplies
MS24694-S62 Screw 0.0000 0.32 0.00% 15 Screw Bin Aircraft Spruce &
Specialty
MS24694-S65 Screw 0.0000 0.48 0.00% 5  Screw Bin Aircraft Spruce &
Specialty
MS24694-S7 SCREW, CNTRSNK ST 0.0000 0.22 0.00% 168 Screw Bin Aviall
MS24694-S70 SCREW 0.0000 0.58 0.00% 98  Screw Bin
MS24694C46 Screw, flat head, 0.0000 0.20 0.00% 190 Screw Bin East Coast Aviation
corrosion resistant Suppllies
MS24694C48 Screw, flat head, 0.0000 0.24 0.00% 170 Screw Bin East Coast Aviation
corrosion resistant Supplies
42 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS24694C50 Screw, countersink, 0.0000 0.18 0.00% 7 Screw Bin Aviall
stainless steel
MS24694C7 Screw, countersink, 0.0000 0.26 0.00% 178 Screw Bin Aviall
stainless steel
MS24694S10 SCREW:CNTRSNK ST 0.0000 0.27 0.00% 75  Screw Bin Bombardier
Aerospace
MS24694S102 Screw, cntrsnk st 0.0000 0.54 0.00% 56  Screw Bin Auviall
MS24694S11 SCREW, CNTRSNK ST 0.0000 0.32 0.00% 75  Screw Bin Aviall
MS24694S12 SCREW:CNTRSNK ST 0.0000 0.27 0.00% 93  Screw Bin Aviall
MS24694S2 Screw, countersink 0.0000 0.31 0.00% 98 Aircraft Spruce &
Specialty Co.
MS24694S3 Screw, countersink, 0.0000 0.18 0.00% 18  Screw Bin Aviall
steel
MS24694S4 Screw 0.0000 0.12 0.00% 3 Screw Bin Aircraft Spruce &
Specialty
MS24694S48 Screw 0.0000 0.12 0.00% 89  Screw Bin Aircraft Spruce &
Specialty
MS24694S49 Screw, countersink, 0.0000 0.16 0.00% 167 Screw Bin Aircraft Spruce &
steel Specialty
MS24694S5 Screw, countersink 0.0000 0.18 0.00% 184 Screw Bin Hawker Beechcraft
steel, AN509-8R8 Corp.
MS24694S50 Screw 0.0000 0.20 0.00% 92  Screw Bin Aircraft Spruce &
Specialty
MS24694S52 Screw 0.0000 0.16 0.00% 103 Screw Bin Hawker Beechcraft
Corp.
MS24694S53 Screw 0.0000 0.32 0.00% 68  Screw Bin Aviall
MS25036-117 Terminal, lug 0.0000 2.40 0.00% 9 Bin #8 East Coast Aviation
Supplies
MS25235-3011 Lamp, 3011 0.0000 3.98 0.00% 3 Dassault Falcon
MS27039-0805 Pan head screw 0.0000 0.18 0.00% 76  Screw Bin Aircraft Spruce &
Specialty Co.
MS27039-0807 Screw, pan head 0.0000 0.31 0.00% 104 Aircraft Spruce &
Specialty Co.
MS27039-0808 Machine screw, 8-32 0.0000 0.25 0.00% 107 Screw Bin Aircraft Spruce &
x .531 Specialty Co.
MS27039-0810 Screw, pan head 0.0000 0.31 0.00% 166 Aircraft Spruce &
Specialty Co.
MS27039-1-05 Pan Head Screws 0.0000 0.22 0.00% 32  Screw Bin
MS27039-1-08 SCREW 0.0000 0.22 0.00% 15 Screw Bin
MS27194-16 SEAL 0.0000 21.51 0.00% 3 Channellock
MS28773-04 Back-up Ring 0.0000 2.20 0.00% 1 Bin #8 Bombardier
Aerospace
MS28773-06 Ring, back up 0.0000 0.52 0.00% 4 Hawker Beechcraft
Corp.
MS28774-022 Ring 0.0000 1.33 0.00% 4  Bin#8 Aviall
43 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS28774-214 Ring, seal 0.0000 1.32 0.00% 4 Bin #8 Hawker Beechcraft
Corp.
MS28774-220 Ring 0.0000 2.73 0.00% 2 Bin #8 Aviall
MS28774-329 Ring 0.0000 3.51 0.00% 4  Bin#8 Aviall
MS28774-333 Ring 0.0000 4.85 0.00% 8 Bin #8 Aviall
MS28774-341 Ring 0.0000 7.50 0.00% 2 Bin #8 Worthington
Aviation Parts
MS28775-006 Preformed packing 0.0000 0.94 0.00% 8
MS28775-008 Packing, Seal 0.0000 0.47 0.00% 7 Aviall
MS28775-009 Packing, Ring 0.0000 0.47 0.00% 4 Aviall
MS28775-010 O Ring 0.0000 0.42 0.00% 1
MS28775-011 O-ring 0.0000 0.60 0.00% 3
MS28775-012 Packing 0.0000 0.47 0.00% 8 Aviall
MS28775-013 Packing 0.0000 0.47 0.00% 4 Aviall
MS28775-015 Packing 0.0000 0.47 0.00% 3 Aviall
MS28775-017 Packing 0.0000 0.47 0.00% 6 Aviall
MS28775-018 O'Ring 0.0000 1.22 0.00% 3 Dassault Falcon
MS28775-022 Packing 0.0000 0.60 0.00% 2 Aviall
MS28775-025 PACKING 0.0000 0.67 0.00% 18 Aviall
MS28775-028 PACKING 0.0000 0.90 0.00% 22 Bombardier
Aerospace
MS28775-110 Packing 0.0000 0.53 0.00% 5 Aviall
MS28775-112 Packing 0.0000 0.47 0.00% 2 Aviall
MS28775-113 Packing 0.0000 0.47 0.00% 6 Aviall
MS28775-115 Packing 0.0000 0.47 0.00% 5 Aviall
MS28775-212 Packing 0.0000 0.38 0.00% 1 Bin#8
MS28775-220 O-ring 0.0000 0.87 0.00% 3 Bin #8 Aviall
MS28775-230 O-ring 0.0000 1.54 0.00% 4  Bin#8 Aviall
MS28775-242 Packing 0.0000 3.26 0.00% 1 Seal Cq
Enterprises
MS28775-260 O'Ring 0.0000 4.80 0.00% 2 Aviall
MS28775-261 Packiing 0.0000 4.95 0.00% 2 Aviall
MS28775-262 Packing, preformed 0.0000 4.95 0.00% 4 Aviall
MS28775-269 Packing 0.0000 5.70 0.00% 1 Bombardier
Aerospace
MS28775-275 Packing 0.0000 8.55 0.00% 2 Bin #8 Aviall
MS28775-329 PACKING 0.0000 1.47 0.00% 3 Bin #8 Aviall
44 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

MS28775-333 Packing 0.0000 2.07 0.00% 4 Aviall

MS28775-341 Packing 0.0000 2.93 0.00% 1 Aviall

MS28775-353 Packing 0.0000 3.85 0.00% 2 Aviall

MS28775-376 Packing 0.0000 14.31 0.00% 2 Bin #8 Aviall

MS28775-381 PACKING 0.0000 14.40 0.00% 1 Bin #8 Oklahoma Regional
Jet Center

MS28777-4 Back-up Ring 0.0000 0.62 0.00% 12 Hawker Beechcraft
Corp.

MS28777-6 Ring 0.0000 1.47 0.00% 2 Aviall

MS28778-10 Packing 0.0000 1.33 0.00% 5 Aviall

MS28778-12 Packing 0.0000 3.27 0.00% 7 Aviall

MS28778-3 Preformed O-ring 0.0000 2.72 0.00% 2 Bin #8 Hawker Beechcraft
Corp.

MS28778-4 O-RING 0.0000 5.76 0.00% 6 Hawker Beechcraft
Corp.

MS28778-5 Packing 0.0000 1.27 0.00% 3 Aviall

MS28778-6 O-Ring 0.0000 6.71 0.00% 4 Hawker Beechcraft
Corp.

MS28778-8 O-Ring 0.0000 6.84 0.00% 11 Hawker Beechcraft
Corp.

MS28782-10 RING/PACKING 0.0000 2.40 0.00% 13 Seal Co
Enterprises

MS28782-6 RETAINER/RING 0.0000 0.48 0.00% 13 Seal Co
Enterprises

MS28783-2 RING 0.0000 2.73 0.00% 3 Bin #8 Aviall

MS29512-03 PACKING 0.0000 0.47 0.00% 73 Hawker Beechcraft
Corp.

MS29512-04 PACKING 0.0000 0.46 0.00% 27 Aviall

MS29512-05 O'Ring 0.0000 0.47 0.00% 12 Aviall

MS29512-06 O'Ring 0.0000 0.47 0.00% 6 Aviall

MS29512-12 Packing 0.0000 2.20 0.00% 1 Bombardier
Aerospace

MS29512-16 O Ring 0.0000 2.46 0.00% 4 Tulsair Beechcraft

MS29513-007 PACKING 0.0000 0.47 0.00% 14 Aviall

MS29513-008 Packing 0.0000 0.47 0.00% 20 Aviall

MS29513-009 Packing 0.0000 0.47 0.00% 10 Aviall

MS29513-010 Packing 0.0000 0.47 0.00% 9 Aviall

MS29513-016 PACKING 0.0000 0.60 0.00% 10 Aviall

MS29513-017 Packing 0.0000 0.60 0.00% 14 Aviall

MS29513-020 O-RING 0.0000 0.74 0.00% 12 Aviall

45 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS29513-022 Packing 0.0000 0.74 0.00% 22 Aviall
MS29513-024 O-ring 0.0000 0.94 0.00% 14 Aviall
MS29513-025 PACKING 0.0000 0.80 0.00% 5 Seal Co
Enterprises
MS29513-026 Packing 0.0000 1.00 0.00% 9 Aviall
MS29513-028 Packing 0.0000 1.20 0.00% 9 Aviall
MS29513-035 Packing 0.0000 1.47 0.00% 6 Bin #8 Aviall
MS29513-038 Packing 0.0000 1.73 0.00% 10 Aviall
MS29513-111 Packing, seal 0.0000 0.53 0.00% 9 Aviall
MS29513-118 Packing 0.0000 0.67 0.00% 28 Aviall
MS29513-120 Packing 0.0000 0.67 0.00% 3 Aviall
MS29513-123 O-RING 0.0000 0.62 0.00% 2 Seal Co
Enterprises
MS29513-130 O-RING 0.0000 1.20 0.00% 5 Aviall
MS29513-132 Packing 0.0000 0.72 0.00% 1
MS29513-138 Packing 0.0000 1.33 0.00% 4 Aviall
MS29513-148 Packing 0.0000 1.87 0.00% 5 Aviall
MS29513-150 Packing 0.0000 2.20 0.00% 5 Aviall
MS29513-214 Packing 0.0000 0.41 0.00% 3 Hawker Beechcraft
Corp.
MS29513-215 Packing 0.0000 2.20 0.00% 1 Aircraft & Turbine
Support
MS29513-227 O-RING 0.0000 1.47 0.00% 2 Channellock
MS29513-230 Packing 0.0000 3.14 0.00% 2 Western Aircraft
Parts
MS29513-231 O-RING 0.0000 2.20 0.00% 7 Aviall
MS29513-232 Packing 0.0000 1.42 0.00% 4 Hawker Beechcraft
Corp.
MS29513-278 O'Ring 0.0000 1.00 0.00% 13 Bin#8
MS29513-325 Packing 0.0000 2.20 0.00% 3 Bombardier
Aerospace
MS29513-329 Seal 0.0000 1.93 0.00% 8 Aviall
MS29513-338 Packing 0.0000 3.33 0.00% 6 Hawker Beechcraft
Corp.
g/lpSSlOlFlOSL- Connector 0.0000 26.91 0.00% 1 Bin #8 PEI-Genesis
MS3106A12S-3S Connector 0.0000 8.84 0.00% 1 Prime Connectors,
Inc.
MS3106E32-1S  Connector 0.0000 90.00 0.00% 1 Bin#8
MS3106R10SL-  Connector 0.0000 42.42 0.00% 1 Bombardier
4S Aerospace
46 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

MS3116F8-4S Connector 0.0000 35.32 0.00% 1 Bin#8

MS3120F22-55S  Connector 0.0000 0.00 0.00% 2 Shelf

MS35206-205 SCREW 0.0000 0.12 0.00% 90 Bin#8 Oklahoma Regional
Jet Center

MS35206-217 SCREW 0.0000 0.09 0.00% 71 Bin#8

MS35206-218 SCREW 0.0000 0.06 0.00% 21 Bin#8 Oklahoma Regional
Jet Center

MS35206-225 SCREW 0.0000 0.08 0.00% 168 Bin#8 Oklahoma Regional
Jet Center

MS35206-226 Screw, machine, pan 0.0000 2.20 0.00% 4 Bin #8 Bombardier

head Aerospace

MS35206-228 SCREW 0.0000 0.06 0.00% 19 Bin#8 Oklahoma Regional
Jet Center

MS35206-230 SCREW 0.0000 0.09 0.00% 48 Bin#8

MS35206-236 Machine Screw 0.0000 0.15 0.00% 1 Bin #8 Aircraft Spruce &
Specialty

MS35206-245 SCREW 0.0000 0.09 0.00% 36 Bin#8

MS35207-261 Screw 0.0000 0.50 0.00% 6  Bin#8

MS35207-268 SCREW 0.0000 0.22 0.00% 4  Bin#8 Oklahoma Regional
Jet Center

MS35265-31 Screw 0.0000 0.60 0.00% 68 Aviall

MS35266-76 Screw 0.0000 2.00 0.00% 18 Bin#8 MSI Helicopters

MS35489-145 GROMMET 0.0000 1.00 0.00% 8 Bin#8 Oklahoma Regional
Jet Center

MS35650-3314 NUT 0.0000 1.78 0.00% 101 Bin#8 Oklahoma Regional
Jet Center

MS9020-02 O-Ring 0.0000 0.36 0.00% 10 Seal Co
Enterprises

MS9020-04 Packing 0.0000 0.42 0.00% 4

MS9020-05 O-RING 0.0000 0.42 0.00% 4 Seal Co
Enterprises

MS9020-08 O-RING 0.0000 0.40 0.00% 11 Seal Co
Enterprises

MS9021-004 O-RING 0.0000 0.68 0.00% 4

MS9021-006 O-RING 0.0000 0.44 0.00% 17 Seal Co
Enterprises

MS9021-008 O-RING 0.0000 0.44 0.00% 3 Seal Co
Enterprises

MS9021-009 O-RING 0.0000 0.44 0.00% 2 Seal Co
Enterprises

MS9021-011 O-RING 0.0000 0.44 0.00% 12 Seal Co
Enterprises

MS9021-012 O-RING 0.0000 0.56 0.00% 37 Seal Co
Enterprises

47 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS9021-013 O-RING 0.0000 0.44 0.00% 1 Seal Co
Enterprises
MS9021-014 O-RING 0.0000 0.60 0.00% 2
MS9021-015 O-RING 0.0000 0.44 0.00% 11 Seal Co
Enterprises
MS9021-018 O-RING 0.0000 0.50 0.00% 20 Seal Co
Enterprises
MS9021-019 O-RING 0.0000 0.56 0.00% 15 Seal Co
Enterprises
MS9021-023 O-RING 0.0000 0.56 0.00% 9 Seal Co
Enterprises
MS9021-025 O-RING 0.2800 0.56 100.00% 9 Seal Co
Enterprises
MS9021-110 O-RING 0.0000 0.58 0.00% 17 Seal Co
Enterprises
MS9021-112 O-Ring 0.0000 0.58 0.00% 13 Seal Co
Enterprises
MS9021-132 PACKING 0.0000 0.72 0.00% 4 Seal Co
Enterprises
MS9021-140 O-RING 0.0000 1.74 0.00% 12 Seal Co
Enterprises
MS9033-07 BOLT 0.0000 0.50 0.00% 100 GE Structured
Services
MS9033-08 BOLT 0.0000 1.90 0.00% 393 East Coast Aviation
Supplies
MS9033-09 BOLT 0.0000 6.60 0.00% 31 GE Structured
Services
MS9034-14 BOLT, 12 PT. HD. 0.0000 2.80 0.00% 10 GE Structured
Services
MS9058-04 RING 0.0000 2.34 0.00% 1 Bin#8 Oklahoma Regional
Jet Center
MS9058-06 RING 0.0000 2.68 0.00% 1 Bin#8 Oklahoma Regional
Jet Center
MS9068-112 O-RING 0.0000 0.82 0.00% 82 Seal Co
Enterprises
MS9068-114 O-RING 0.0000 0.90 0.00% 22 Seal Co
Enterprises
MS9068-210 O-RING 0.0000 1.20 0.00% 28 Channellock
MS9068-329 O-ring 0.0000 2.00 0.00% 8 Bin#8 Bizjet International
MS9137-01 GASKET 0.0000 2.98 0.00% 3 Aviall
MS9245-47 COTTER PIN 0.0000 0.10 0.00% 54  Red box on shelf Oklahoma Regional
Jet Center
MS9276-09 KEY WASHER 0.0000 1.40 0.00% 223 Bin#8 Oklahoma Regional
Jet Center
MS9386-015 Packing 0.0000 0.80 0.00% 5 Aviall
MS9386-018 Packing 0.0000 0.93 0.00% 5 Aviall
48 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS9386-020 Packing 0.0000 1.06 0.00% 15 Aviall
MS9386-112 PACKING 0.0000 0.88 0.00% 1 Oklahoma Regional
Jet Center
MS9386-143 Packing 0.0000 1.80 0.00% 1 Bin #8 Bombardier
Aerospace
MS9386-156 O-ring, alternate for 0.0000 5.97 0.00% 28 Global Airparts
MS9068-156 Direct
MS9387-04 O-RING 0.0000 0.46 0.00% 1 Seal Co
Enterprises
MS9387-08 O-RING 0.0000 0.74 0.00% 5
MS9388-006 O-RING 0.0000 0.38 0.00% 13 Seal Co
Enterprises
MS9388-007 O-RING 0.0000 0.38 0.00% 105 Seal Co
Enterprises
MS9388-010 O-RING 0.0000 0.42 0.00% 47 Seal Co
Enterprises
MS9388-012 O-RING 0.0000 0.46 0.00% 21 Seal Co
Enterprises
MS9388-014 O-RING 0.0000 0.54 0.00% 15 Seal Co
Enterprises
MS9388-019 O-RING 0.0000 0.64 0.00% 49 Seal Co
Enterprises
MS9388-026 O-RING 0.0000 1.18 0.00% 14 Seal Co
Enterprises
MS9388-027 O-RING 0.0000 1.28 0.00% 5 Seal Co
Enterprises
MS9388-031 O-RING 0.0000 1.80 0.00% 23 Seal Co
Enterprises
MS9388-039 O-RING 0.0000 2.74 0.00% 33 Seal Co
Enterprises
MS9388-110 O-RING 0.0000 0.74 0.00% 4
MS9388-111 O-RING 0.0000 0.68 0.00% 35 Seal Co
Enterprises
MS9388-112 PACKING 0.0000 0.70 0.00% 11 Seal Co
Enterprises
MS9388-117 O-RING 0.0000 0.92 0.00% 1 Seal Co
Enterprises
MS9388-124 O-RING 0.0000 1.46 0.00% 4 Seal Co
Enterprises
MS9388-132 O-RING 0.0000 2.06 0.00% 21 Seal Co
Enterprises
MS9388-135 O-RING 0.0000 2.32 0.00% 24 Seal Co
Enterprises
MS9388-140 O-RING 0.0000 2.46 0.00% 11 Seal Co
Enterprises
MS9388-325 Packing, 2-325 0.0000 4.13 0.00% 2 Seal Co
V1164-75 Enterprises
49 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
MS9489-22 BOLT 0.0000 2.00 0.00% 6 Bin #8 Aircraft & Turbine
Support
MS9966-06 PACKING 0.0000 5.36 0.00% 2 Bin #9 Oklahoma Regional
Jet Center
MS9967-016 PACKING 0.0000 7.50 0.00% 1 Bin #9 Oklahoma Regional
Jet Center
MS9967-046 PACKING 0.0000 26.66 0.00% 1 Bin #9 Oklahoma Regional
Jet Center
MS9967-116 PACKING 0.0000 10.26 0.00% 2 Bin #9 Oklahoma Regional
Jet Center
MS9967-212 PACKING 0.0000 10.00 0.00% 22  Bin#9 Oklahoma Regional
Jet Center
MY20321-1603 Washer 0.0000 18.75 0.00% 4 Aviation Supply
Company
MY20341-032 Retainer, lock 0.0000 2.00 0.00% 17 Bin#9
MY20341-033 Retainer, lock 0.0000 2.00 0.00% 12 Bin#9
MY20510-001- Hose 0.0000 128.25 0.00% 2 DK Turbines
2C1
MY20522-220 Seal 0.0000 33.24 0.00% 1 Bin #9 Dassault Falcon
MY20522-5002 Seal 0.0000 9.43 0.00% 1 Bin #9 Dassault Falcon
MY20550-1305-2 Bolt 0.0000 405.00 0.00% 1 March Aviation
MY20551-5028 Seal 0.0000 47.91 0.00% 1 Bin #9 Dassault Falcon
MY20551-9062 Pin, afterbody safety bolt 0.0000 60.75 0.00% 6
MY20746-312 Pipe 0.0000 0.00 0.00% 1 Bin #9 Morrison
Enterprises
MY20746-313 Line 0.0000 616.14 0.00% 1 Bin #9 Dassault Falcon
MY20751-627 Pipe 0.0000 405.00 0.00% 1 Bin #9 Avipart USA, Inc.
MY20751-713 Pipe 0.0000 0.00 0.00% 1 Bin #9 Morrison
Enterprises
NAS1081-06A3 Setscrew 0.0000 3.30 0.00% 1 Bin #9 Bombardier
Aerospace
NAS1096-1-5 Bolt 0.0000 0.34 0.00% 36 Bin#9 Oklahoma Regional
Jet Center
NAS1096-1-6 Bolt 0.0000 0.34 0.00% 54  Bin #9 Oklahoma Regional
Jet Center
NAS1096-2-13 Bolt 0.0000 0.30 0.00% 49 Bin#9 Oklahoma Regional
Jet Center
NAS1096-2-6 Bolt 0.0000 0.26 0.00% 59 Bin#9 Oklahoma Regional
Jet Center
NAS1096-2-8 Bolt 0.0000 0.30 0.00% 33 Bin#9 Oklahoma Regional
Jet Center
NAS1096-3-10 Bolt 0.0000 0.34 0.00% 54  Bin #9 Oklahoma Regional
Jet Center
NAS1096-3-12 Bolt 0.0000 0.30 0.00% 50 Bin#9 Oklahoma Regional
Jet Center
50 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS1096-3-23 Bolt 0.0000 0.20 0.00% 10 Bin#9 Oklahoma Regional
Jet Center
NAS1096-3-6 Bolt 0.0000 0.34 0.00% 1 Bin #9 Oklahoma Regional
Jet Center
NAS1096-3-7 Bolt 0.0000 0.30 0.00% 15 Bin#9 Oklahoma Regional
Jet Center
NAS1096-3-8 Bolt 0.0000 0.26 0.00% 50 Bin#9 Oklahoma Regional
Jet Center
NAS1096-3-9 Bolt 0.0000 0.30 0.00% 50 Bin#9 Oklahoma Regional
Jet Center
NAS1101-3-10 SCREW 0.0000 1.10 0.00% 96 Bin#9 Oklahoma Regional
Jet Center
NAS1101E06-4 SCREW 0.0000 1.00 0.00% 165 Bin#9 Oklahoma Regional
Jet Center
NAS1101E08-7 SCREW 0.0000 2.84 0.00% 9 Bin #9 Oklahoma Regional
Jet Center
NAS1101E3-8 Screw 0.0000 7.80 0.00% 7 Bin #9 Aircraft & Turbine
Support
NAS1102-04-8 SCREW 0.0000 1.00 0.00% 96 Bin#9 Oklahoma Regional
Jet Center
NAS1102-06-5 SCREW 0.0000 1.00 0.00% 60 Bin#9 Oklahoma Regional
Jet Center
NAS1102-06-6 SCREW 0.0000 1.00 0.00% 87 Bin#9 Oklahoma Regional
Jet Center
NAS1102-06-7 SCREW 0.0000 1.00 0.00% 63 Bin#9 Oklahoma Regional
Jet Center
NAS1102-3-7 SCREW 0.0000 0.90 0.00% 76 Bin#9 Oklahoma Regional
Jet Center
NAS1102E3-10 SCREW 0.0000 2.60 0.00% 199 Bin#9 Oklahoma Regional
Jet Center
NAS1102E3-12 SCREW 0.0000 1.35 0.00% 39 Bin#9 Oklahoma Regional
Jet Center
NAS1102E3-20 SCREW 0.0000 1.40 0.00% 3 Bin #9 Oklahoma Regional
Jet Center
NAS1102E3-7P  SCREW 0.0000 1.00 0.00% 39 Bin#9 Oklahoma Regional
Jet Center
NAS1131E2 SCREW 0.0000 1.00 0.00% 34 Bin#9 Oklahoma Regional
Jet Center
NAS1132E3 SCREW 0.0000 1.00 0.00% 57 Bin#9 Oklahoma Regional
Jet Center
NAS1133E3 SCREW 0.0000 1.00 0.00% 4 Bin #9 Oklahoma Regional
Jet Center
NAS1133E4 SCREW 0.0000 3.12 0.00% 78 Bin #9 Oklahoma Regional
Jet Center
NAS1133V1 SCREW 0.0000 1.00 0.00% 39 Bin#9 Oklahoma Regional
Jet Center
NAS1133V6 SCREW 0.0000 1.00 0.00% 40 Bin#9 Oklahoma Regional
Jet Center
51 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS1149BO763H WASHER 0.0000 0.34 0.00% 97 Bin#10 Oklahoma Regional
Jet Center
NAS1149CN632R WASHER 0.0000 0.04 0.00% 45 Bin #10 Oklahoma Regional
Jet Center
NAS1149CN816R WASHER 0.0000 0.06 0.00% 9 Bin #10 Oklahoma Regional
Jet Center
NAS1149CN832R WASHER 0.0000 0.06 0.00% 174 Bin #10 Oklahoma Regional
Jet Center
NAS1149C0316 Washer 0.0000 0.02 0.00% 4 Bin #10
R
NAS1149C0332 WASHER 0.0000 0.04 0.00% 245 Bin #10 Oklahoma Regional
R Jet Center
NAS1149C0632 Washer, SS 0.0000 0.09 0.00% 91 Bin#10 Aviall
R
NAS1149C0O732 Washer, flat 0.0000 0.35 0.00% 6 Bin #10
R
NAS1149DN416K WASHER 0.0000 0.10 0.00% 313 Bin #10 Oklahoma Regional
Jet Center
NAS1149DN616K WASHER 0.0000 0.16 0.00% 69 Bin #10 Oklahoma Regional
Jet Center
NAS1149DN816H WASHER 0.0000 0.10 0.00% 35 Bin#10 Oklahoma Regional
Jet Center
NAS1149DN816K WASHER 0.0000 0.10 0.00% 19 Bin#10 Oklahoma Regional
Jet Center
NAS1149DN832H WASHER 0.0000 0.06 0.00% 9 Bin #10 Oklahoma Regional
Jet Center
NAS1149DN832K WASHER 0.0000 0.10 0.00% 1 Bin #10 Oklahoma Regional
Jet Center
NAS1149D0316 WASHER 0.0000 0.06 0.00% 67 Bin#10 Oklahoma Regional
H Jet Center
NAS1149D0332) WASHER, ALUMINUM 0.0000 0.09 0.00% 322 Bin #10 Aviall
NAS1149D0332K WASHER 0.0000 0.16 0.00% 105 Bin#10 Oklahoma Regional
Jet Center
NAS1149D0416K Washer 0.0000 0.18 0.00% 200 Screw Bin Aviall
NAS1149D0832K Washer 0.0000 2.00 0.00% 1 Bin #10 Bombardier
Aerospace
NAS1149FN416P WASHER 0.0000 0.06 0.00% 73 Bin #10 Oklahoma Regional
Jet Center
NAS1149F0332P WASHER 0.0000 0.05 0.00% 166 Bin #10 Oklahoma Regional
Jet Center
NAS1149F0432D WASHER 0.0000 0.05 0.00% 81 Bin#10 Oklahoma Regional
Jet Center
NAS1149F0432P WASHER 0.0000 0.05 0.00% 247 Bin #10 Oklahoma Regional
Jet Center
NAS1149F0463P Washer 0.0000 0.10 0.00% 2 Bin #10
NAS1149F0632P WASHER 0.0000 0.20 0.00% 9 Bin #10 Aviall
52 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS1152E3 SCREW 0.0000 1.00 0.00% 12 Bin #10 Oklahoma Regional
Jet Center
NAS1153E3 SCREW 0.0000 2.80 0.00% 22  Bin#10 Oklahoma Regional
Jet Center
NAS1153E4 SCREW 0.0000 2.20 0.00% 7 Bin #10 Oklahoma Regional
Jet Center
NAS1153E5 SCREW 0.0000 1.00 0.00% 18 Bin#10 Oklahoma Regional
Jet Center
NAS1153E9 SCREW 0.0000 1.00 0.00% 33 Bin#10 Oklahoma Regional
Jet Center
NAS1153V3 SCREW 0.0000 2.00 0.00% 3 Bin #10 Oklahoma Regional
Jet Center
NAS1153V4 SCREW 0.0000 2.00 0.00% 7 Bin #10 Oklahoma Regional
Jet Center
NAS1153V4A SCREW 0.0000 2.00 0.00% 33 Bin#10 Aircraft & Turbine
Support
NAS1153V5 SCREW 0.0000 2.00 0.00% 44  Bin #10 Oklahoma Regional
Jet Center
NAS1153V5A Screw 0.0000 3.00 0.00% 10 Bin#10 Aircraft & Turbine
Support
NAS1153V7A Screw 0.0000 2.61 0.00% 2 Bin #10 Dassault Falcon
NAS1154V4A SCREW 0.0000 2.00 0.00% 27 Bin#10 Oklahoma Regional
Jet Center
NAS1154V5A SCREW 0.0000 1.00 0.00% 27 Bin #10 Oklahoma Regional
Jet Center
NAS1154V6A SCREW 0.0000 2.00 0.00% 18 Bin#10 Oklahoma Regional
Jet Center
NAS1154V7A SCREW 0.0000 2.00 0.00% 27  Bin #10 Oklahoma Regional
Jet Center
NAS1169DD6 Washer 0.0000 2.20 0.00% 38 Bombardier
Aerospace
NAS1291C4M Locknut 0.0000 1.00 0.00% 20 Bin #10
NAS1329A06K75 Rivnut, 6/32 0.0000 0.26 0.00% 10 Bin#10 Aircraft Spruce &
Specialty Co.
NAS1351-04H8P Screw, Cap, Socket 0.0000 19.35 0.00% 4 Bombardier
head Aerospace
NAS1351C3H10 Screw 0.0000 4.00 0.00% 7 AVMATS/Aviation
Turbines
International
NAS1352-06-4P  Screw 0.0000 6.30 0.00% 1 Bin #10 Bombardier
Aerospace
NAS1352-3-8P Bolt 0.0000 3.20 0.00% 4  Bin#10 Bombardier
Aerospace
NAS1352-3H12P Screw 0.0000 3.20 0.00% 4  Bin#10 Bombardier
Aerospace
NAS1352C3H6 Screw 0.0000 24.42 0.00% 4 Aviall
NAS144-23 Bolt 0.0000 39.52 0.00% 2 Bin #10 Hawker Beechcraft
Corp.
53 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS1473A08 Nut, Plate 0.0000 4.50 0.00% 7 Aviall
NAS1473A4 Nut Anchor 0.0000 12.98 0.00% 1 Bin #10 APPH Houston
NAS1473C3 NUT PLATE 0.0000 3.00 0.00% 72  Bin #10 Oklahoma Regional
Jet Center
NAS1473C4 NUT PLATE 0.0000 3.00 0.00% 99 Bin #10 Oklahoma Regional
Jet Center
NAS1474A4 NUT PLATE 0.0000 3.60 0.00% 92 Bin#10 Oklahoma Regional
Jet Center
NAS1523AA4R Packing with retainer 0.0000 1.80 0.00% 5 Bin #10 Hawker Beechcraft
Corp.
NAS1581C3R2 Screw 0.0000 2.48 0.00% 15 Standard
Aero-Tempe
NAS1587-4C WASHER 0.0000 2.80 0.00% 89 Bin #10 Oklahoma Regional
Jet Center
NAS1587A3C WASHER 0.0000 0.60 0.00% 77 Bin#10 Oklahoma Regional
Jet Center
NAS1611-015 Packing 0.0000 1.20 0.00% 1 Bin #11
NAS1611-121 Packing 0.0000 2.20 0.00% 2 Bin #11 Aviall
NAS1611-216A  Packing 0.0000 1.48 0.00% 2 Bin #11 Aviall
NAS1611-217A  Packing 0.0000 1.48 0.00% 2 Bin #11 Aviall
NAS1611-235 O-ring 0.0000 8.57 0.00% 3 Bin #11 Aviall
NAS1611-236 Packing 0.0000 0.00 0.00% 1 Bin #11
NAS1611-325 Packing 0.0000 0.00 0.00% 1 Bin #11
NAS1612-6A Packing, Low & high 0.0000 0.94 0.00% 1 Bin #11 Bombardier
density fluid Aerospace
NAS1726C3D NUT 0.0000 1.00 0.00% 31 Bin#l1 Oklahoma Regional
Jet Center
NAS1726C3PE NUT 0.0000 1.00 0.00% 37 Bin#11 Oklahoma Regional
Jet Center
NAS1726C4D NUT 0.0000 1.00 0.00% 32 Bin#11 Oklahoma Regional
Jet Center
NAS1726C4PE ~ NUT 0.0000 1.00 0.00% 30 Bin#l1l Oklahoma Regional
Jet Center
NAS1791A3-1 NUT PLATE 0.0000 2.74 0.00% 89 Bin#11 Oklahoma Regional
Jet Center
NAS1791C3-6 NUT PLATE 0.0000 1.00 0.00% 91 Bin#11 Oklahoma Regional
Jet Center
NAS1802-3-10 Bolt 0.0000 10.60 0.00% 2 Bin #11
NAS1802-3-12 Bolt 0.0000 0.00 0.00% 1 Bin #11
NAS1836-08-14 Insert, blind threaded 0.0000 1.30 0.00% 44  Bin #11 East Coast Aviation
Supplies, Inc.
NAS1921M04S03 Rivet, blind 0.0000 7.58 0.00% 5  Shelf Cessna Aircraft
Company
54 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS1983-C3T SCREW 0.0000 1.00 0.00% 33 Bin#11 Oklahoma Regional
Jet Center
NAS333CPA5 SCREW 0.0000 0.34 0.00% 102 Screw Bin Oklahoma Regional
Jet Center
NAS333CPA6 SCREW 0.0000 0.26 0.00% 54  Screw Bin Oklahoma Regional
Jet Center
NAS334CPA5-5  Screw 0.0000 0.30 0.00% 57  Screw Bin
NAS464P3-8 Bolt 0.0000 2.74 0.00% 8 Bin #11 Cessna Aircraft
Company
NAS464P4A8 Bolt 0.0000 3.52 0.00% 8 Bin #11 Yingling Aviation
NAS464P6-22 Bolt 0.0000 12.75 0.00% 1 Bin #11 Bombardier
Aerospace
NAS514P632-4 Screw, csk 0.0000 2.20 0.00% 1 Bin #11 Bombardier
Aerospace
NAS517-3-1 Screw-100 deg. close 0.0000 0.12 0.00% 76  Screw Bin Hawker Beechcraft
tolerance flat head Corp.
NAS517-3-14 Screw, close tolerance, 0.0000 0.36 0.00% 100 Screw Bin East Coast Aviation
100 deg. flat head Supplies, Inc.
NAS517-3-15 Screw, close tolerance, 0.0000 0.44 0.00% 100 Screw Bin East Coast Aviation
100 deg. flat head Supplies, Inc.
NAS517-3-2 Screw 0.0000 0.24 0.00% 64  Screw Bin East Coast Aviation
Supplies, Inc.
NAS517-3-3 Screw 0.0000 0.20 0.00% 232 Screw Bin East Coast Aviation
Supplies, Inc.
NAS517-3-4 Screw, 100 degree, 0.0000 0.22 0.00% 136 Screw Bin East Coast Aviation
close tolerance flat head Supplies, Inc.
NAS517-3-5 Screw, 100 degree, 0.0000 0.23 0.00% 127 Screw Bin East Coast Aviation
close tolerance flat head Supplies, Inc.
NAS517-4-1 Screw, close tolerance, 0.0000 0.36 0.00% 79  Screw Bin East Coast Aviation
100 Deg. flat head Supplies, Inc.
NAS517-4-10 Screw 0.0000 1.00 0.00% 3 Bin #11
NAS517-4-11 SCREW 0.0000 0.70 0.00% 2 Screw Bin Oklahoma Regional
Jet Center
NAS517-4-2 Screw, close tolerance, 0.0000 0.48 0.00% 87  Screw Bin East Coast Aviation
100 deg. flat head Supplies, Inc.
NAS517-4-23 SCREW 0.0000 2.84 0.00% 26  Screw Bin Oklahoma Regional
Jet Center
NAS517-4-3 Screw, close tolerance, 0.0000 0.44 0.00% 100 Screw Bin East Coast Aviation
100 deg. flat head Supplies, Inc.
NAS517-4-4 Screw, close tolerance, 0.0000 0.48 0.00% 87  Screw Bin East Coast Aviation
100 deg. flat head Supplies, Inc.
NAS517C3-3 Screw, Stainless Steel 0.0000 3.80 0.00% 2 Bin #11 Standard
Aero-Tempe
NAS517V3-7XF  Screw 0.0000 3.00 0.00% 15 Bin#11 Standard
Aero-Tempe
NAS561P2-7 Pin, spring 0.0000 20.25 0.00% 4 Bin #11 Bombardier
Aerospace
55 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS561P6-18 Pin 0.0000 1.34 0.00% 23  Bin#l1 Yingling Aviation
NAS601-6 SCREW 0.0000 0.30 0.00% 5 Bin #11 Oklahoma Regional
Jet Center
NAS602-6P SCREW 0.0000 0.16 0.00% 46 Bin#11 Oklahoma Regional
Jet Center
NAS608C632-10 SCREW 0.0000 1.40 0.00% 10 GE Structured
Services
NAS617-12 Packing 0.0000 0.80 0.00% 5 Aviall
NAS617-4 Packing 0.0000 2.20 0.00% 7 Bombardier
Aerospace
NAS620-416L Washer 0.0000 0.20 0.00% 28 Bin#l11
NAS6204-9H Bolt 0.0000 4.35 0.00% 1 Bin #11 Bombardier
Aerospace
NAS620A2 WASHER 0.0000 0.10 0.00% 291 Bin#11 Oklahoma Regional
Jet Center
NAS620C10L Washer 0.0000 2.32 0.00% 2 Bin #11
NAS6703-2 BOLT 0.0000 3.66 0.00% 78 Bin#11 Oklahoma Regional
Jet Center
NAS6703-3 BOLT 0.0000 3.34 0.00% 93 Bin#11 Oklahoma Regional
Jet Center
NAS6703-4 BOLT 0.0000 2.60 0.00% 46  Bin#11 Oklahoma Regional
Jet Center
NAS6703-44 BOLT 0.0000 1.00 0.00% 50 Bin#11 Oklahoma Regional
Jet Center
NAS6803A3 BOLT 0.0000 1.00 0.00% 34 Bin#l1 Oklahoma Regional
Jet Center
NAS6803A4 BOLT 0.0000 1.00 0.00% 28 Bin #11 Oklahoma Regional
Jet Center
NAS6804A9 BOLT 0.0000 1.00 0.00% 1 Bin #11 Oklahoma Regional
Jet Center
NAS7303A3 SCREW 0.0000 1.00 0.00% 40 Bin#11 Oklahoma Regional
Jet Center
NAS7303A4 SCREW 0.0000 1.00 0.00% 18 Bin#11 Oklahoma Regional
Jet Center
NAS7303A5 SCREW 0.0000 1.00 0.00% 85 Bin#11 Oklahoma Regional
Jet Center
NAS7303A6 SCREW 0.0000 1.00 0.00% 88 Bin#11 Oklahoma Regional
Jet Center
NAS7503-20 Screw 0.0000 11.10 0.00% 2 Bin #11 Bombardier
Aerospace
NAS8602-4 Bolt 0.0000 4.00 0.00% 10 Screw Bin Bombardier
Aerospace
NAS8603-2 Screw 0.0000 2.20 0.00% 11 Screw Bin Bombardier
Aerospace
NAS8603-3 Screw 0.0000 0.64 0.00% 23  Screw Bin Bombardier
Aerospace
56 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
NAS8702-1 Screw 0.0000 2.60 0.00% 19 Screw Bin Bombardier
Aerospace
NAS8702-13 Screw 0.0000 20.10 0.00% 9 Bin #11 Bombardier
Aerospace
NAS8702-3 Bolt, reduced csk hd 0.0000 3.80 0.00% 53  Screw Bin Bombardier
Aerospace
NAS8702-6 Bolt, 100 CSK, reduced 0.0000 6.60 0.00% 16 Bin#11 Bombardier
head Aerospace
NAS8702U2 Screw 0.0000 2.20 0.00% 1 Screw Bin Bombardier
Aerospace
NAS8702U4 Screw 0.0000 4.00 0.00% 54  Screw Bin Bombardier
Aerospace
NAS8702U6 Screw 0.0000 4.35 0.00% 25  Screw Bin Bombardier
Aerospace
NAS8703-2 Bolt 0.0000 1.50 0.00% 470 Screw Bin Bombardier
Aerospace
NAS8703-3 SCREW 0.0000 2.08 0.00% 210 Screw Bin Standard
Aero-Tempe
NAS8703-4 Bolt 0.0000 2.04 0.00% 19  Screw Bin Hawker Beechcraft
Corp.
NAS8703U2 Screw 0.0000 2.00 0.00% 5 Screw Bin Bombardier
Aerospace
NAS8703U4 Screw 0.0000 3.80 0.00% 22  Screw Bin Bombardier
Aerospace
NAS8703U6 Screw 0.0000 10.95 0.00% 8 Screw Bin Bombardier
Aerospace
NAS8703U8 Screw 0.0000 3.60 0.00% 24 Screw Bin Bombardier
Aerospace
NAS8802A3 Bolt 0.0000 2.00 0.00% 5 Screw Bin Bombardier
Aerospace
NAS8803A2 Bolt 0.0000 1.00 0.00% 10  Screw Bin Bombardier
Aerospace
NAS8803A3 Bolt 0.0000 1.00 0.00% 4 Screw Bin Bombardier
Aerospace
NAS8803A4 Bolt 0.0000 1.00 0.00% 10  Screw Bin Bombardier
Aerospace
OL3071 Lamp 0.0000 2.54 0.00% 6 Aviall
0OL6838 6838 LAMP 0.0000 1.88 0.00% 2 Aviall
OT57CW2IN ORCOTAPE OT-57, 2" 0.0000 1.00 0.00% 76  Shelf Aviall
P60009 Green Disc, Large 0.0000 44.82 0.00% 1 Bombardier
Aerospace
PE4053 Connector 0.0000 18.83 0.00% 4 Bin #12 Pasternack
Enterprises Inc.
PHC112C3-16-80 T-2 HOSE 0.0000 60.00 0.00% 1 Channellock
PHILLIPSXC20W Engine olil 0.0000 7.35 0.00% 6 Aircraft Specialties
50 Services
57 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
PR1005L Sealant, 16 oz. 0.0000 109.37 0.00% 3 Shelf Western Aircraft
Parts
PR1422B2-60Z  Sealant, 6 oz. 0.0000 38.35 0.00% 2 Shelf Business Aircraft
Consumables
PR1440A1/2 60Z Sealant 6 oz kit 0.0000 45.90 0.00% 2 Hawker Beechcraft
Corp.
Q4559 Lamp 0.0000 62.63 0.00% 1 Shelf Duncan Aviation
Q4681 Lamp 0.0000 59.99 0.00% 2 Aviall
R03134X353A50 O-ring 0.0000 6.08 0.00% 3 Bin #12 Standard
D7 Aero-Tempe
R03747X533A50 O-ring 0.0000 5.22 0.00% 2  Bin#12 Dassult Falcon
D7
R04100X178A21 O-Ring 0.0000 8.64 0.00% 1 Bin #12 Dassault Falcon
B6
R04100X300A21 O-Ring 0.0000 6.63 0.00% 2 Bin #12 Dassault Falcon
A6
R04382X533A50 Seal 0.0000 5.24 0.00% 1 Bin #12 Dassault Falcon
D7
R04417X178A50 O-ring, seal 0.0000 7.50 0.00% 2 Dassault Falcon
D7
R05040X353A50 Seal 0.0000 5.40 0.00% 4 Bin #12 Western Aircraft
D7 Parts
R1032E0116T HOSE 0.0000 0.00 0.00% 1 GE Structured
Services
R1155P4 NUT 0.0000 10.70 0.00% 4 Bin #12 Aircraft & Turbine
Support
R1159P02C NUT 0.0000 3.50 0.00% 16 GE Structured
Services
R1240P007 PIN, SPRING 0.0000 1.40 0.00% 6 GE Structured
Services
R1240P008 PIN, SPRING 0.0000 1.40 0.00% 9 GE Structured
Services
R1307P011 O-RING 0.0000 3.68 0.00% 3 GE Structured
Services
R1307P012 O-RING 0.0000 10.50 0.00% 2 GE Structured
Services
R1307P013 O-RING 0.0000 6.00 0.00% 2 GE Structured
Services
R1307P015 O-RING 0.0000 15.83 0.00% 1 GE Structured
Services
R1307P016 PACKING, PREFORM 0.0000 7.65 0.00% 2 Channellock
R1307P020 O-RING 0.0000 8.93 0.00% 2 GE Structured
Services
R1307P120 O-RING 0.0000 13.13 0.00% 8 GE Structured
Services
R1308P002 PACKING, PREFORM 0.0000 1.40 0.00% 14 GE Structured
Services
58 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
R1309P008 O-RING 0.0000 0.70 0.00% 8 GE Structured
Services
R1309P011 O-RING 0.0000 2.68 0.00% 17 Channellock
R1309P012 O Ring 0.0000 3.68 0.00% 6 GE Structured
Services
R1309P018 O-RING 0.0000 1.40 0.00% 15 GE Structured
Services
R1309P019 O-RING 0.0000 6.00 0.00% 4 GE Structured
Services
R1309P022 PACKING 0.0000 3.50 0.00% 4 GE Structured
Services
R1309P026 PACKING 0.0000 3.50 0.00% 5 GE Structured
Services
R1309P039 O-RING 0.0000 3.68 0.00% 13 GE Structured
Services
R1309P111 O-RING 0.0000 1.40 0.00% 1 GE Structured
Services
R1309P112 O-RING 0.0000 3.00 0.00% 14 GE Structured
Services
R1309P113 O-RING 0.0000 3.00 0.00% 16 DK Turbines, LLC
R1309P117 O-RING 0.0000 2.10 0.00% 7 GE Structured
Services
R1309P121 O-RING 0.0000 2.80 0.00% 11 GE Structured
Services
R1309P124 PACKING 0.0000 3.60 0.00% 1 Channellock
R1309P132 PACKING 0.0000 3.15 0.00% 3 GE Structured
Services
R1309P135 PACKING-PREFORM 0.0000 5.78 0.00% 6 GE Structured
Services
R1309P140 O-RING 0.0000 3.15 0.00% 2 GE Structured
Services
R1309P904 O-RING 0.0000 1.40 0.00% 4 GE Structured
Services
R1309P906 O-RING 0.0000 0.70 0.00% 4 GE Structured
Services
R1309P908 O-RING 0.0000 1.95 0.00% 1 GE Structured
Services
R1310P008 O-RING 0.0000 27.90 0.00% 2 GE Structured
Services
R1310P017 O-RING 0.0000 6.00 0.00% 13 DK Turbines
R1310P018 O-RING 0.0000 9.75 0.00% 2 DK Turbines
R1310P025 O-RING 0.0000 17.25 0.00% 4 DK Turbines
R1310P038 PACKING, PREFORM 0.0000 2.40 0.00% 7 GE Structured
Services
R1318P01 O-RING 0.0000 12.00 0.00% 8 Bizjet International
59 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier

R1318P02 O-RING 0.0000 41.04 0.00% 3 Bizjet International

R13312 Ring 0.0000 2.50 0.00% 6 Duncan Aviation

R169P06 BOLT 0.0000 35.00 0.00% 2 Bin #12 Aircraft & Turbine
Support

R170P04 CONNECTOR 0.0000 25.00 0.00% 1 Bin #12 Aircraft & Turbine
Support

R170P06 CONNECTOR 0.0000 40.00 0.00% 2 Bin #12 Aircraft & Turbine
Support

R289P06 ELBOW 0.0000 25.00 0.00% 1 Bin #12 Aircraft & Turbine
Support

R294P04 ELBOW, TUBE 0.0000 25.00 0.00% 1 Bin #12 Aircraft & Turbine
Support

R398P1 NUT 0.0000 3.45 0.00% 4 DK Turbines

RA17231 PACKING, preformed 0.0000 2.00 0.00% 4 DK Turbines

RA60-820029-1  Tow Pin 0.0000 27.34 0.00% 1 Bin #12 Aircraft Specialties
Services

RB-P Lense cover 0.0000 2.00 0.00% 1

RB11226 Gasket 0.0000 10.50 0.00% 2 Bombardier
Aerospace

RB11374-1 Gasket 0.0000 30.00 0.00% 2 Bombardier
Aerospace

RBJ203BC Bearing 0.0000 181.90 0.00% 5 Bin #12

RD24933-1 SEAL, PLAIN 0.0000 472.50 0.00% 1 Freedom Airparts

ENCASED

RE1028-1 Flare gun 0.0000 0.00 0.00% 1

RG30 o-ring 0.0000 2.10 0.00% 8 Bin #12 Gulfstream
Aerospace

RG6 Grommet 0.0000 3.56 0.00% 5

ROYCO 756 MIL 5606 HYD. FLUID, 0.0000 11.60 0.00% 6 Aircraft Specialties

QT. Services

RR16500A18 Lube scavenge pump 0.0000 1,650.00 0.00% 1 Aircraft & Turbine
Support

RSSD8X34AN1U Resistor 0.0000 33.75 0.00% 1 Bizjet International

K

RST50S RING, RETAINING 0.0000 3.68 0.00% 1 GE Structured
Services

RTV732-30Z RTV, Clear 0.0000 3.21 0.00% 1 Aviall

RTV732-30ZBLK Sealand, Black, 3 oz. 0.0000 3.33 0.00% 1 Aviall

S-306 Seal 0.0000 67.50 0.00% 1 Dodson
International

S1005J-4587 Taxi light with 4587 lamp 0.0000 680.00 0.00% 1  shelf

S1091-5 Fuse 0.0000 5.22 0.00% 4 Bin #12 Yingling Aviation

S1201-12 Seal 0.0000 8.37 0.00% 2 Hawker Beechcraft
Corp.

60 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
S1628-329 Ring 0.0000 3.17 0.00% 8 Bin #12 Yingling Aviation
S1704-1 Roller 0.0000 2.62 0.00% 8 Bin #12 Yingling Aviation
S1914-8 Nut 0.0000 2.36 0.00% 24  Bin #12 Yingling Aviation
S22NA217-22-02 Nut Plate 0.0000 23.08 0.00% 2 Bin #12 Dassault Falcon
S2907-5-3 Rivet 0.0000 3.22 0.00% 72  Shelf Cessna Aircraft
Company
S$3225-905 Packing 0.0000 26.40 0.00% 2 Bin #12 Aviall
S3322C10-13 Screw 0.0000 3.48 0.00% 10 Cessna Aircraft
Company
S3322C10-15 Screw 0.0000 3.86 0.00% 16 Cessna Aircraft
Company
S3322C10-16 Screw 0.0000 2.06 0.00% 22 Cessna Aircraft
Company
S3322C10-18 Screw 0.0000 3.28 0.00% 55 Cessna Aircraft
Company
S3322C10-20 Screw 0.0000 2.54 0.00% 24 Cessna Aircraft
Company
S3322C10-22 Screw 0.0000 3.22 0.00% 23 Cessna Aircraft
Company
S3322C10-30 Screw 0.0000 3.44 0.00% 10 Cessna Aircraft
Company
S3322C10-36 Screw 0.0000 6.32 0.00% 10 Cessna Aircraft
Company
S3322510-15 Screw 0.0000 1.10 0.00% 96 Cessna Aircraft
Company
S3322S10-19 Screw 0.0000 1.24 0.00% 37 Cessna Aircraft
Company
S8990-258 Packing 0.0000 9.60 0.00% 1 Bin #12 Aviall
S9026D110 Seal 0.0000 0.56 0.00% 8 Hawker Beechcraft
Corp.
S9028D908 Seal 0.0000 1.26 0.00% 8 Aviall
S9412-010 Packing 0.0000 2.00 0.00% 4 Aircraft & Turbine
Support
S9412-011 Packing 0.0000 2.20 0.00% 3 Aircraft & Turbine
Support
S9412-012 Packing 0.0000 2.00 0.00% 1 Aircraft & Turbine
Support
S9412-015 Packing 0.0000 1.50 0.00% 4 Hawker Beechcraft
Corp.
S9412-028 Packing 0.0000 4.35 0.00% 4 Hawker Beechcraft
Corp.
S9412-032 Packing 0.0000 3.64 0.00% 7 Standard
Aero-Tempe
S9412-110 Packing 0.0000 1.84 0.00% 5 Standard
Aero-Tempe
61 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
S9412-138 PACKING 0.0000 7.88 0.00% 7 Standard
Aero-Tempe
S9412-212 PACKING 0.0000 4.50 0.00% 19 Standard
Aero-Tempe
S9412-553 Packing 0.0000 2.00 0.00% 3 Aircraft & Turbine
Support
S9412-554 Packing 0.0000 3.11 0.00% 5 Hawker Beechcraft
Corp.
S9412-556 Packing 0.0000 1.64 0.00% 8 Standard
Aero-Tempe
S9413-008 PACKING 0.0000 2.20 0.00% 7 Oklahoma Regional
Jet Center
S9413-010 Packing 0.0000 0.24 0.00% 8 Standard
Aero-Tempe
S9413-012 Packing 0.0000 1.24 0.00% 4 Standard
Aero-Tempe
S9413-013 Packing 0.0000 2.00 0.00% 1 Aircraft & Turbine
Support
S9413-014 Packing 0.0000 2.00 0.00% 8 Aircraft & Turbine
Support
S9413-015 Packing 0.0000 2.00 0.00% 18 Aircraft & Turbine
Support
S9413-016 PACKING 0.0000 2.00 0.00% 9 Aircraft & Turbine
Support
S9413-019 Packing 0.0000 2.00 0.00% 2 Aircraft & Turbine
Support
S9413-020 Packing 0.0000 2.00 0.00% 12 Aircraft & Turbine
Support
S9413-021 Packing 0.0000 2.00 0.00% 3 Aircraft & Turbine
Support
S9413-022 Packing 0.0000 2.00 0.00% 1 Aircraft & Turbine
Support
S9413-023 Packing 0.0000 2.00 0.00% 2 Aircraft & Turbine
Support
S9413-024 Packing 0.0000 2.00 0.00% 3 Aircraft & Turbine
Support
S9413-031 Packing 0.0000 1.30 0.00% 1 Sstandard
Aero-Tempe
S9413-032 Packing 0.0000 0.92 0.00% 2
S9413-034 Packing 0.0000 2.20 0.00% 6 Aircraft & Turbine
Support
S9413-036 Packing 0.0000 3.06 0.00% 5 Hawker Beechcraft
Corp.
S9413-040 Packing 0.0000 2.36 0.00% 1 Bin #12 Standard
Aero-Tempe
S9413-110 Packing 0.0000 2.00 0.00% 2 Aircraft & Turbine
Support
62 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM

Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
S9413-117 Packing 0.0000 0.88 0.00% 3 Standard
Aero-Tempe
S9413-121 Packing 0.0000 1.04 0.00% 4 Standard
Aero-Tempe
S9413-135 Packing 0.0000 3.00 0.00% 3 Aviall
S9413-136 PACKING 0.0000 2.20 0.00% 16 Standard
Aero-Tempe
S9413-212 PACKING 0.0000 2.20 0.00% 16 Oklahoma Regional
Jet Center
S9413-526 Packing 0.0000 7.38 0.00% 1 Standard
Aero-Tempe
S9413-529 Packing 0.0000 3.27 0.00% 10 Standard
Aero-Tempe
S9413-554 PACKING 0.0000 2.20 0.00% 15 Standard
Aero-Tempe
S9413-556 Packing 0.0000 2.20 0.00% 1 Standard
Aero-Tempe
S9413-557 Packing, alt. 0.0000 1.53 0.00% 5 Standard
MS3248-1-907 Aero-Tempe
S9413-558 Packing 0.0000 1.20 0.00% 1
SCATS8 Scat ducting, 2" 0.0000 9.39 0.00% 8 Aviall
SCTS12 Terminal, MS81824/1-3 0.0000 5.07 0.00% 26 Hi-Line
SCTS16 Terminal, MS81824/1-2 0.0000 4.49 0.00% 7 Hi-Line
Security Placards Security placards 0.0000 13.20 0.00% 40
(XSG21-36RE) pkg. of
24
SLOOT-4-7 T-2 HOSE 0.0000 15.75 0.00% 1 Bombardier
Aerospace
SP115 Fitting, Grease nipple 0.0000 7.50 0.00% 1 CRS Jet Spares
SP116 Nipple, grease 0.0000 15.00 0.00% 1 AVMATS/Aviation
Turbines
International
SP121C Joint fork 0.0000 5.62 0.00% 1 Bin#l2
SP122G Washer 0.0000 0.07 0.00% 7  Bin#12
SP123E Washer 0.0000 3.58 0.00% 36 Bin#12
SP124J Washer 0.0000 1.80 0.00% 1 Bin#l2
SP124S Washer 0.0000 3.28 0.00% 2  Bin#12
SP125E Washer 0.0000 0.12 0.00% 4  Bin#12
SP125J Washer 0.0000 0.64 0.00% 4  Bin#12
SP126D Washer 0.0000 0.20 0.00% 90 Bin#12
SP126E Washer 0.0000 3.58 0.00% 6  Bin#12
SP126G Washer 0.0000 4.48 0.00% 4  Bin#12
63 of 64

Printed by EBis 3 (www.datcomedia.com)



Aircraft & Turbine Support, Inc. - Phone: 918-438-6800, Fax: 918-439-0115 - 3/23/2011 8:59:43 AM
Repair Station #: W51R185X - 2701 N Sheridan Rd

Hangar 20, Tulsa, OK 74115

Cost & Retail List (General)

Part Number Description General Cost General Retail Mark-up Qty General Location  Supplier
SP126J Washer 0.0000 0.74 0.00% 4  Bin#12
SP127D Washer 0.0000 0.80 0.00% 1 Bin #12 Hawker Beechcraft
Corp
SP4YD5 Pin 0.0000 20.00 0.00% 1 Bin #12
SP90C10 Cotter pin 0.0000 0.16 0.00% 1 Bin #12
SP90E10 Cotter Pin 0.0000 0.24 0.00% 2 Bin #12
SP90E14 Cotter pin 0.0000 0.20 0.00% 2 Bin #12
SQ22-502 Filament 0.0000 19.95 0.00% 1 Bin #12 Skyward Aviation
SSCY1112645 #3 CARBON SEAL SET 0.0000 1,319.68 0.00% 1 GE Structured
Services
SSP-42 POP RIVET 0.0000 1.00 0.00% 59  Shelf Oklahoma Regional
Jet Center
ST3086-135 PACKING 0.0000 10.00 0.00% 3 Bin #12 Oklahoma Regional
Jet Center
ST3086-139 PACKING 0.0000 10.00 0.00% 1 Bin #12 Oklahoma Regional
Jet Center
T-1487 Spring, lav seat hinge 0.0000 19.95 0.00% 6 Bin #12 Bombardier
Aerospace
T-62T-39 APU, Gas Turbine 0.0000 25,000.00 0.00% 1  Warehouse 2 Aircraft & Turbine
Support, Inc.
T6400 Bag seal 0.0000 8.76 0.00% 3 Bin #12 Aviall
TAS120WE1 Wire, 20 gauge shielded 0.0000 2.04 0.00% 200 Shelf Hi-Line
TLUK419BHO006 Rivet 0.0000 0.45 0.00% 18 Bin#12
TLUK424BHO006  Rivet 0.0000 0.62 0.00% 12 Bin#12 Standard
Aero-Tempe
TMY20-32-104 NLG steering pin 0.0000 290.00 0.00% 1 Condor World
disconnect Aviation Services
TR760-03 Valve Assembly, 0.0000 75.86 0.00% 5 Bin#12
Tubeless
TRVCS Cap Cover 0.0000 5.33 0.00% 2 Bin #12 Aviall
VL1003GA1-012 Packing, alt for 0.0000 0.42 0.00% 7 Aviall
S9413-012
VL1003GA1-117 Packing 0.0000 1.28 0.00% 1 Bin #12 Aircraft & Turbine
Support
X117-4 Sealing ring 0.0000 93.26 0.00% 1 Bin #12 Hawker Beechcraft
Corp.
X218-10 Clamp 0.0000 22.50 0.00% 10 Advanced Aviation
Industries
X218-13 Clamp 0.0000 22.50 0.00% 2 Aircraft Inventory
XSG21-36RE Security placards 0.0000 0.55 0.00% 15 NovaVision
Z71855-054 NUT 0.0000 213.14 0.00% 1 GE Structured
Services
64 of 64

Printed by EBis 3 (www.datcomedia.com)



